V/

Mo
AGMASTER

HARRINGTON°NO-TILL

(/)1800 NOTILL

2023 CATALOGUE

SEEDING KITS
HARROWS
PRESSWHEELS
MAINTENANCE TIPS
ASSEMBLY INSTRUCTIONS

HEAD OFFICE

Phone: (08) 9358 1555
Fax: (08) 9358 1888
10 Fargo Way
PO Box 151
WELSHPOOL WA 6106

Website: www.agmaster.com.au
Email: sales@agmaster.com.au

INTERSTATE SALES & PARTS REPRESENTATIVES

SOUTH AUSTRALIA NEW SOUTH WALES VICTORIA
& QUEENSLAND
Renee Attwood Rowan Cox Dan Bolwell
(08) 9358 1555 1800 668 455 1800 668 455
renee@agmaster.com.au rowan@agmaster.com.au dan@agmaster.com.au

Disclaimer: Agmaster strongly recommends that you consult your agronomist to determine the suitability of
Agmaster products in your seeding program. Agmaster gives absolutely no guarantee as to the suitability or
performance of its products. Furthermore, Agmaster will not accept liability for any loss or damage caused by,

or as a consequence of the use of its products.

E&OE Issued: January 2023
Products and Prices are subject to change without notice

Check our website for the latest information on products and prices

1

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



TABLE OF CONTENTS

SEEDING KITS & REPLACEMENT PARTS

NT19 ADJUSTA-POINT SEEDING KITS & PARTS — Standard C-Shank & Edge-On Tynes PAGE
NT19 Multi-Boot

Full Seeding Kits including Paired-Row & Single-ROW SYStEMS........cuiiiiiiiiiiciiiieee e e e e 5
Multi-Boot Only Assemblies including Paired Row & Single-Row OptioNnS.........ccoceciiiiiiieeie e e 6
NT19 Adjusta-Point & Multi Boot Prices & Part NUMBErs MatriX .......ccceeecererieeeiieeeiiee e sree e e 7
Spare Parts — Closing Tools, Brackets, POiNts & HOIEIS.........cccueiiiiiiiiiiiie et 8-9
NT19 Rigid Boot

Full Seeding Kits and POint & BOOt OPHIONS. ....cccuuteitireiiiieiiee ettt ettt ettt sttt et e e s sb e sseeesenneesneeesneeesaneeas 10
NT19 Adjusta-Point & Rigid Boot Prices & Part NUMBErs IMatriX .......ceevecueieeeiiiiiiieesiiiieeeesiieee e s ee e siveee s ssneeee s 11
Spare Parts - Replacement Points, Boots, Brackets & HOIErS.......ccccuuiiiiiiiiiiiiiiiecc et e e 11-12
Liguid Kits & Parts for RigIA BOOT........cceiuiieiiiieiiiee ettt ettt st st e e s e e st e ssteesnbeesaneeesaneeesaneeas 13
NT19 Flexi-Boot

Full Seeding Kits and POint & BOOt OPHIONS. ....cccuueeritiieiiiieiiee ettt ettt sree e st e e sr e s mbe e s snneesneeesneeesaneeas 14
NT19 Adjusta-Point & Rigid Boot Prices & Part NUMbBErs MatriX ........ccccevcveeenieeeiieeeiiee et 15
Spare Parts— Points, Holders, Boots, Brackets & Other Parts..........cccvvvieeeii i icccciiieeee et 16-17
NT19 Extras

Adjusta-Point & Holder Kits and TrashgUards...........coocuiiiiiiiiiiiieiee ettt 18

PARALLELOGRAM MODULE SEEDING KITS & PARTS — Morris C2, C3, Quantum & Bourgault Paralink
NT20M Multi-Boot Module

Full Seeding Kits for Morris including Paired-Row & Single-Row Systems..........cccovveeeeeeiiiicccciiiiieeeee e, 19
Full Seeding Kits for Bourgault including Paired-Row & Single-Row Systems.........c.ccceeeeeeeiiiiiiiiiieeeeee e, 20
NT20 Multi Boot Module Prices & Part NUMDBErs IMAtriX.......cccuveeeiriuiieeiiiiiieeeriiieeessiieeessieee e s ssveee e ssareeeessnnees 21
Spare Parts - Points, Closing Tools, Brackets & Other Parts..........ccuuiiiiieiiiecccciiiieee e e e e 22
NT21B Bourgault PLDS non-genuine replacement knives to SUit PLDS.........ccccoveiieiiiniiiere e 23
NT21M Dual In-Line for Morris Seeding Kits and Spare Parts — Points, Closers & Other Parts........cccccceeeeeecnnnnnee 23
NT21D Adjusta-Point to suit DBS — Point & Holder Kits & Spare Parts........ccccceeiiviieeeiiiiieeeesiiieee e ecireeessvinee e 24
Emu Tracker Wheels Assemblies & Parts for Parallelogram Seeders.................... e 25
Prior Model Spare Parts 2017 — 2018 Kwik Fit Module Parts & 2015 — 2016 Morris C2 Seeker Parts.................. 25

NT11 SEEDING KITS & PARTS — C-Shank & Edge-On Tynes
NT11 Rigid Boot

Full Seeding Kits including POint & BOOt OPtiONS. ....ccviiviieiiriieieitiete st etesreestssseesteestesteestesbeesessreesbesreesbesreesresnneses 27
NT11 Rigid Boot Prices & Part NUMBDErs MatriX........cccueeeeueeriiieeecieeeiieeesieesetteeesaeesseeessseeesssesesssesesssessnssessssenennns 28
Point & Holder and Boot & Bracket ONIY KitS........cuiiicuiiieiiiiiieeeiiiieeeeeiiieeesssiteeesssiieeeessstteeesssteeesssnsseeesssseneessnnns 29
Spare Parts - POINT HOIAEIS & PiNS.....ciiuiiiiiiiiiie ettt ettt e e st e e s s e e e s s abee e e s ssbeeeessnneeeessnsens 29
Spare Parts - NT11 Replacement Points, Brackets & BOOtS.........cooccciiiiiiiiiie et eeervrrree e e e e e e e nne e 30-31
NT11 Flexi-Boot

U1 LIYT=Te [T = G U UER 32
Flexi-Boot & Bracket and Point & Holder ONIY KitS......uuiiiiieeieciiiiiiieeee ettt e e ecrrree e e e e e e e e e annraaee e e e e e e e 33
NT11 Flexi-Boot Prices & Part NUMDEIS IMAtriX.......ecceeiieciiiiiieeeeeeeeeccciitieee e e e e e e e eeenntraeeseeaeeesessnnssssaseessessssssnnssnnns 34
Spare Parts — Flexiboots, Brackets & Other Parts.............uuuiiiiiii oottt e e e rrrrr e e e e e e e e e e nnaraaee s 35
NT11 Optional Extras

Trashguards & Sweep Adaptors fOr NTL ... ...t eeeeccrreee e e e e e e e e eserbraeeeeeeeeeesssnsrssasseeaeesssssanssnnns 36
o U e B G 2= o R UEPUU 37
NT11, NTO5 & NTO09 Spare Parts

NTO9 & NTO5 Points & NT11 Point HOIAEIS & PiNS.....cccciiiiiiiiiiiiieiiee e ettt e e e e e e eseievree e e e e e e e e e e s asnnraaaeeaaeeeenn 38
Closer Plates to suit NT19, NT11, NTO8 and earlier Model..........c...uuviiiiiiiiei et 39

NTO8 & NT03 SEEDING KITS & PARTS — Single Bolt Tynes
Full Seeding Kits and Boot & Bracket ONIY KitS.........cceccuiiiiiiieeee e ettt e e e e e e e eeeirrrr e e e e e e e e e e ennraaeeeeeeeessesnnnsrsanees 41
Spare Parts — NTO8 Points, Brackets & Boots and NTO3 POINTS.........uvvvurriririiimriiiiiiiiiiiinneeeeeeeeeeeeeeeeeeeseseneesnnns 42-43

CONCORD KITS - Side-Mounted Tynes
NT11 Conversion Kit, NTO5 Bolt-On Kit @nd SPare Parts........ccuuuuiiiiiiiiiiiii et e et e e e s eete s s e s e seaaaeeeeeeeeens 44

2 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au




TABLE OF CONTENTS

HARROWS PAGE
Harrow Assemblies
Harrow Gangs — Star Harrows & COil HAarrOWS. .........eoiuiieriiieiiieee ettt e e sanee e 45
TeleSCOPIC IMOUNTING AIMNS. .. .iiiiiiieiiee ettt ettt e et e e s bt e e s bt e e s be e e s bee s seeesseeesabeeeaabeeesabeeenseesaneeesareeesareeesarenanns 46
Harrow Parts
Tele-Arms, TUINETADIE & U-ATMS. ..o ettt ettt et e et e s b e e sttt e s bt e e s beeesabeeeaneeesnseesabeeesareeesaneeanns 47-48
SEAIS, CONIS & AXIES ...ttt ettt ettt e st e e s ab e s bt e e s bt e e st e e e s be e e sab e e e b e e e e bbee e bae e s be e e s be e e enreeeanreeenns 49
PRESSWHEELS
Presswheel Assemblies
Standard PresswWheel MOQUIES..........ooui it e tee e e e s be e e e s s bte e e s snsbeeaessnnbeeeessnnsees 51
AL ad o] 11T @ oY uTo o TSRS 52
Emu Tracker PressSWheel MOdUIE & Parts.........oi ittt ettt e s e e s s e e e sssaaeesssnssaeessansseeeeens 53
Fixed Extension Arms —Single & DOUDIE OPtiONS.....ccucuiiiiiiiiiiee ettt et srre e s srare e e e ssere e e s ssasreeessssnaeeesan 54
Mounting Bar and TeleSCoOPIC EXLENSION AIMNS......uiiiiiiiiiiciciiiiiieeee e e eeeecirieeeeeeeeeeeesssstsreeeeeaeeesessasssrssssssaaassesssnsens 55
Presswheel Parts
D CTo o L= Y oY o T o] o] o ToT a Y= o) 4SRRI 56
Module Parts — 2002 FAbriCat@d W BUSHES........oouuueieieeeeeee ettt e e e et e e e e s e s s s b e s e e e e saaaaaaas 57
MOodUlE Parts — 2003 W BUSKHES. ....uuueccceeeeeee et e e e e e e e e e e aaaaaaas 58
Module Parts — 2004 — CUIrENT W BEAIINES. ...cciviuriiiiiiiiieeeeiieeeeseiitteesssireeessssbaeeessssseeeesssssaeeesssseeesssssseesssssseneenns 59
Wheels, TYres, RIMS & SaIS......ciiiiiieiiie ettt ettt et st e e st e e s b e e neeesneeesnneesareeesareeenanes 60
FASTENERS
PiNS, BOILS, NULS & WaASNEIS......cciiiiiiiiiiiiieeeeeeeeeeeee s et e e e e e s e e e e e e et e eaesaeeaaaaaseseseses s s s e s s e s s s e sasassasssssasasanen 61
U-BOItS, V-BOItS & BACKING Plates.....cccc ittt e e e e e et ee e e e e e e e e e st e b aeeaeeaeeeseesnnnstaneaeeaeas 62
UPGRADES, MAINTENANCE & ASSEMBLY
UpPErades — PreSSWNEEI IMIOUNTS............uuiiiiiiieee e ettt et e e e e e e e s ettt e e e e e e e e s eeeenattaaeeaeaaeeeessasnntssaseaeasasesaaanssssanseaaeas 63
(1Y T a1 (=T g = Lot T I T o L3 64
TIBhTENING TONQUE VAlUES...cciiieieeteeeee ettt e e e e e e e re e e e e e e e e e e e e bbb reaeeeaaeeeeesaastssaaaeeaaasaeasasnssssasaaaaaeseanans 65
Assembly Instructions
SEEAING KitS & EXLIAS. . uuiiiiieiiiiiieiiiiititeee e e e e e e cctttteeeeeeeeeeesebtataeeeeeaeeeaaasnssasaesaeaaassaaaassssssaessaaassssaanssssasaseaaasseanannsrnns 66-74
Presswheels & FIXEd EXEENSIONS........uiiiiiiiiie ettt e e e et ee e e s st ee e e s saabeeeeesnbeeeesssbaeesesnseeessnssees 75
[ T o X VR R 1T FoY oo o 1ol A o o U 76-78
Presswheels & Harrows in CombIiNatioN......c..uiiiiiiiiiiiiiiieee et e e s sbee e s s s abee e s e sabeeesesanreeas 79
QUICK REFERENCE GUIDE
Individual Parts QUICK REfErENCE GUITE......coiueiiiiiiiiiie e e e e re e e s s bee e e s ssabeeeeesnnnees 81-82
A

°

[ ]

e oo Looking for a specific part number? Use this!




4

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT19 ADJUSTA-POINT & MULTI-BOOT SEEDING KITS

SUITS: Double-bolt C-Shank and Edge-On tynes with 1/2” bolt holes (Examples listed on page 7)
*Modular system *Four Adjusta-Point options (pictured on page 6) *Single-Row or Paired-Row
* Single or Dual Shoot * Option for liquid in knife point slot and/or with seed * Trashguard included

NT19 MULTIBOOT SEEDING KIT - SINGLE ROW

Included: All parts pictured, including trashguard & fasteners. $260 - $290 +Gst
SEE PAGE 7
CLOSING TOOL OPTION FiizRailalile
CL5240

Single-Row
45mm Closer

Vi

NT19 MULTIBOOT SEEDING KIT - PAIRED ROW
Included: All parts pictured, including trashguard & fasteners. $355 = $445 e
SEE PAGE 7

FOR PART #'S
AND PRICING

SINGLE SHOOT DUAL SHOOT

PAIRED-ROW WING CLOSING TOOL OPTIONS
SW5290 SW5280 SW5270
— &\/ © SwW5280 ()

=
re—=——

O
- SW5270
S\ [©
\_v

7/
Paired-Row Paired-Row Paired-Row
95mm Seeker Wing 85mm Seeker Wing 75mm Seeker Wing
~75mm rows ~65mm rows ~55mm rows

SEE PAGE 6 FOR POINT OPTIONS TO SUIT THESE SEEDING KITS

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices
www.agmaster.com.au



ADJUSTA-POINT OPTIONS FOR NT19 MULTI BOOT KITS

* Four 14mm Adjusta-Point options * Three height settings * Lo-Thro or Straight profiles
*Two different lengths *Liquid or Standard available in both lengths/profiles

The kits pictured on page 5 have the PT5640 point.
PT5660

PT5670

Adjusta-Point Adjusta-Point Adjusta-Point Adjusta-Point
14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid

MULTI-BOOT ASSEMBLIES (NO POINT)

SUITS: Double-bolt C-Shank and Edge-On tynes with 1/2” bolt holes (Examples listed on page 7)

* Behind-tyne assembly *Compatible with NT19 and NT11 Point & Holder Systems
*Modular system * Single or Dual Shoot *Single-Row or Paired-Row
*Provision for liquid in knife point slot and/or with seed

MULTIBOOT ONLY ASSEMBLIES

125 - $280 +aGst
Included: All parts pictured, including fasteners. E S
SEE PAGE 7
FOR PART #'S
AND PRICING

Single Row
Single Shoot

Paired-Row
Single Shoot Dual Shoot

Paired-Row

SEE PAGE 8 FOR NT19 MULTIBOOT SPARE PARTS

6

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au




[ponaar T

1294402 3Y31 0S J9pJQ

noA usym paiou si

sy} aJns ayew asea|d
‘|lesianlun JaJseay

© 10} SUlIapJO J| 4

plensysetl

T9L9H1d

GETS  T9L9HLd

T9L9H1d

T999H1d

OTTS  T999HLd

T999H1d

T9S9HLd

GETS  T9S9HLd

T9S9H1d

T9v9H1d
OTTS 19v9HLd

T9¥9H1d

TELZVTANG
1S5+
ONNW TELZETANG
TELZTTANG
TELTYTTIL99Nd
1S5+
mm—ww TELTETTIL99Nd
TELTTTTIL99Nd

TELZYTTI999Nd
1S5+

TELZETTI998Nd
Sovs

TELTTTTI9999Nd

TELIYTTIS99Nd
1S5+
mm.vw TELTETTIS99Nd
TELTTTTIS99Nd

TELZVTTIV99INd
159+ TELZETTIV99INd
Sovs

TELTTTTIVIGINd

T€8CVYTANG
1S5+
ONNM TESZETANG
TESTZITANG
TEBTYTTIL99Nd
1S5+
MMQW TEBCETTIL99Nd
TEBCTTTIL99Nd

TE€BZYTT9999Nd
1S5+
mo#m TEBCETTI9949Nd
TEBCTTT9999Nd

TEBZYTTIS99Nd
1S5+

TEBTETTIS98INd
SEVS

TEBCTTTIS99Nd

TEBTYTTIVIEINd
1S5+

TEBCETTIV99INd
SovS

TEBCTTTIVIGIND

T€6CVTANG
1S5+
QNNW TE6CZETANG
TE6CTTANG
TE6CVTTIL99Nd
1S5+
m.v.wm TE6CETTIL99Nd
TE6CTTTIL99Nd

TE6CVTT9999Nd
159+ TE6CETTI999Nd
STYS

TE6CTTTI999Nd

LIvTaNg
1S9+
ONN% LTETANE
LTTTANG
LTYTTIL99INd
1S9+
LTETTIL99Nd
S8€$
LTTTTIL99Nd

LTYTT9999Nd

LTETTI999Nd

LZTTT9999Nd

T€621TT9598Nd
StbS  1e6zeTTos9aNd

TE6CTTTIS99Nd

LTYTTIS99Nd

LTETTIS99Nd

LTTTT9999Nd

TE6CYTTIV99INd
159+ TE6CETTIVI99INd
SIPS

TE6CTTTIVIGINd

LTYTTIVIEINd

LTETTIVIE9INd

LTTTTIY99INd

8¢vTaNg
1S5+
ONNW 8CETAING
8CTTdNgG
8¢VTITIL99INd
1S5+
8CETTIL99INd
G8€S
8CTTTIL99INd

8ZPTT999dNd
1S5+

mmmm 8ZETT99949Nd

6ZrTaNg
1S9+
OMNW 6CETANG
6C¢TTaNg
6ZVTTIL99INd
1S9+
mmmw 6CETTIL99INd
6CTTTIL99Nd

6ZVTT99949Nd

6CETTI9949Nd

8CTTT9999Nd

8CPTT95949Nd
1S9+
mmmw 8CETTIS949Nd
8CTTT9S949Nd

8¢rTT9v949INd
159+ 8CETTIY949INd
ss€$

8ZTTTIV99Nd

6CTTT999d9Nd

6ZPTT9S99Nd

6CETTIS99Nd

6CTTT9S99Nd

6ZVTTIV94INd

6CZETTIVI4INd

6CTTTIY99INd

veriaiNg
1S5+
(Y41 m vZeTaNg
veITaNg
verIT9L99INd
159+ YZETTIL99INd
06¢S
YZITT9L99Nd

YZrTT1999dNd
1S5+

YZETT99949INd
092$

YZITT9999Nd

YerT19599Nd

1S9+
OONW YZETTIS99Nd
YZTITT9S99Nd

YerT19v949INd
159+ YZETTIV949INd
092$

YZITT9Y949Nd

siapjoy/siulod _“.MM_MM_W_
TTIN B 6TLN Yum

a|quedwod ase syy ¢H# ANAL

Ajuo 100qunpy ANVHS™D

INIodON ~ THIANAL
ANVHS-J|.

€# ANAL

pinbr] NO-394d3

wsens ku,wnmw
0£9S1d T#aNALL:

ANVHS-D

pJepueis

wlens “uw__.,__m
09951d THINAL|
ANVHS-D

~

pinbn

2# ANAL [
01y1-01
L JINVHS
0S9sld o Lo
~ INVHS-D

paepuels
oL i
0v9S1d T8 INAL

ANVHS-D

syoq ou Ing suid
apn|oul sy J9p|oH

43070H 3 INIOd

L1OOHS 1vNa/mod a3divd

YILSVINOV LOVINOD 3ISVITd ‘SNO

Awdiidwis ‘1L espAH/1ieas uoseg
Jegleas meysseg poomioH :sajdwex3

(3jueys moutieu yiim 1004 apim)
sauAl up-a8p3 suns
‘€ SSV1D ANAL

d1|nespAH/g|059/d10SS 1031X3|4
‘0€8T-0T8T 2493Q uyor
21 IneIpAH/q|0S9 SLUON :sa|dwex3

s8upeds ,v/T 28
s3joy 3|09 ,2/T Yum sauhy yueys-D piepueis
1T SSV1D ANAL

[41SS

LOOHS 319NIS/MOY a3divd

V13 334HL IHL 40 ANV H43ANN A31SIT LON SINAL HO4

«|BSIaAIUN J2J4B3YS Hueys-) meysSeg
POOMIOH ‘UQ-23z3 ‘4 nedinog ‘q|00t SI4ION
‘(,2/T 01 paweau s3joy) g|0SE 1091x3|d :sajdwex3

sSupeds ,p/€ T8
s9|0Yy 310q ,2/T Y3Mm sauAy yueys-) piepuers
‘T SSV1D INAL

18 3U10d 6TLN
1009 ON
100g 124 100yS [EN@ g | 1009 134 100YS [ENQ B 1009 1494 100YsS [eNQ B
SUIM WWS/ 0LZSMS SUIM WWSE 08ZSMS SUIM WWSE 062SMS | Sulm wwisz 0£ZSMS | Suim WwWSg 08ZSMS | Suim wwse 062SMS | 49500 Wiwisy 0vZS1D
1 AINO

MOY F1ONIS

®
jul0d-eisnlpy
wwpT 6TLN
SINIOd

<-:

[ ]
suondQ jooguniN
s1009

1o9s491ul @310Yyd 1009 R

juiod JnoA a1aym ssed auAy JnoA 01 JueAs|as ao1ud 13 Jaquinu Med puld ‘p
MmoJ do} wouy 1350]2/300(q 13|35 “€

uwn|od Ya| wodj iod 193|3S ‘7
auAl/auiyoew InoA 03 Jueas|as sse|) auhl, Ajauap| T

XIHL1VIA SHIGINNN LHVd 8 S3D1dd LOOSGILININ B LNIOd-VISNIAY 6T.LN

‘SNOILONYLSNI

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



NT19 MULTI-BOOT REPLACEMENT PARTS
Replacement Closing Tools

SW5290 SW5280 SW5270 CL5240

cLs240 ()
_—— '/

Paired-Row Paired-Row Paired-Row Single-Row
95mm Seeker Wing 85mm Seeker Wing 75mm Seeker Wing 45mm Closer
~75mm rows ~65mm rows ~55mm rows Exc Inc
SW5290 *  95mm Seeker Wing for Multi Boot; paired rows 75mm apart $155.00 $170.50
SW5280 *  85mm Seeker Wing for Multi Boot; paired rows 65mm apart $145.00 $159.50
SW5270 *  75mm Seeker Wing for Multi Boot; paired rows 55mm apart $145.00 $159.50
CL5240 *  45mm Closer for Multi Boot; single row $ 50.00 S 55.00

Boot Adaptors & Other Parts

BA5110/BA5120 BA5140 FB5310 LF5420 LF5530 LF5520
II"*.\ ‘.\
))
¥ /
/ f;f
/' /
U -
Boot Adaptor Boot Adaptor Dual Shoot Liquid Fertiliser  Liquid Fertiliser ~ Wetting Agent/
Flat 50mm Tynes Edge-On 30mm Tynes Dry Fertiliser Boot  Tube 2018-2022 Tube 2023  Liquid w Seed Tube
Exc Inc
BA5110 **  Boot Adaptor C-Shank; mount for above closing tool options $70.00 $77.00
and fertiliser boot on standard curved 50mm c-shank tynes
BA5120 **  Boot Adaptor C-Shank 2023; mount for above closing tool options $70.00 $77.00

and fertiliser boot on standard curved 50mm c-shank tynes with
improved behind-point liquid delivery

BA5140 **  Boot Adaptor Edge-On; mount for above closing tool options $70.00 $77.00
and fertiliser boot on 30mm edge-on tynes

FB5310 *  Optional Dry Fertiliser Boot; drops fertiliser in between paired row $50.00 $55.00
for dual-shoot when used with Paired-Row Wings

LF5420 Liquid Fertiliser Tube; stainless steel tube for directing liquid fertiliser $10.00 $11.00
to back of point. Suits BA5110 boot adaptor.

LF5530 Liquid Fertiliser Tube 2023; straight stainless steel tube for directing
liquid fertiliser to back of point. Suits BA5120 boot adaptor.

LF5520 ***  Liquid Fertiliser Tube; stainless steel tube for applying liquid with seed $ 5.00ea $ 5.50ea
1 required per seed row

* Requires 2 x BNW122 1/2” X 2” Bolt, Nut & Washer S 3.00ea $ 3.30ea

*k Requires 1 x UBN5611 or UBN2001 M12 U-bolt w/ Nuts &Washers S 5.00ea S 5.50ea

U-Bolt required depends on point and holder being used. UBN5611 for NT19 Adjusta-point and UBN2001 NT11.
Also requires 1x bolt to go through tyne; size varies between machines. Call Agmaster if assistance is required.

*okok Requires 1x BO6M10S M6 X 10 Bolt (1 Required per tube) $ 0.50ea S 0.55ea
8 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au




Points (Cast Mild Steel)
ET5640

PT5650

Adjusta-Point

Adjusta-Point

PT5660

Adjusta-Point

PT5670
a

Adjusta-Point

14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid
Exc Inc
PT5640 14mm Adjusta-Point Lo-Thro Standard $ 85.00 $ 93.50
PT5650 14mm Adjusta-Point Lo-Thro Liquid $110.00 $121.00
PT5660 14mm Adjusta-Point Straight Standard $ 85.00 $ 93.50
PT5670 14mm Adjusta-Point Straight Liquid $110.00 $121.00
Holders & Fasteners
HL5610 PIR41 HL5600 PIR45 UBN5611
) YN
'\ VVVVV A
Copil
Vel
‘/g \ %\\ \\‘\\
<\
\ rﬁ A \ \X\\
\\ \?g W
NS
NS )

Adjusta-Point

12mm Square Head Adjusta-Point 12mm Cuphead Pin U-Bolt to secure

Holder 2021 Pin & R Clip for Holder 2018-2020 & R Clip for point holder
Uses pin PIR41 Adjusta-Point Uses Pin PIR45 Adjusta-Point & boot adapter
For holder HL5610 For holder HL5600
Exc Inc
HL5610 Adjusta-Point Holder 2021- current $25.00 $27.50
PIR41 Pin 12mm x 41mm Square & R Clip for Adjusta-Point 2021 $200 $ 220
HL5600 Adjusta-Point Holder 2018-2020 $25.00 $27.50
PIR45 Pin 12mm x 45mm Cup Head & R Clip for Adjusta-Point 2018-2020 $200 $2.20
PI12A41 Pin 12mm x 41mm Square for Adjusta-Point 2021 $190 $ 2.09
PI12A45 Pin 12mm x 45mm Cup Head for Adjusta-Point 2018-2020 $190 $ 2.09
PI1432R R-Clip 43 x 2.5 $020 $0.22
UBN5611 M12 U-Bolt 80x52 w/ Nuts & Washers - for Adjusta-Point to Multi-Boot $ 500 $5.50
UBN5612* M12 U-Bolt 90x52 w/ Nuts & Washers - for Adjusta-Point to NT11 Seeker $ 500 $5.50
UBN5613 M12 U-Bolt Bent 80x52 w/ Nuts & Washers - for Adjusta-Point to NT11 Rigid $500 §$5.50
Boot
* Requires 1x UB5620 - Backing Plate for Adjusta-point to NT11 Seeker Boot $4.00 S 4.40
Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 9

www.agmaster.com.au



NT19 ADJUSTA-POINT & RIGID BOOT SEEDING KITS

SUITS: Double-bolt C-Shank and Edge-On tynes with 1/2” bolt holes (Examples listed on page 11)

* Progression of our popular NT11 Point & Rigid Boot Kits * Multiple height-adjustable seeding boots
*Four Adjusta-Point options * Single or Dual Shoot * Easy access pin and bolts

* Option for liquid in knife point slot and/or with seed (select boots only)  * Trashguard included

NT19 RIGID BOOT

Included: All parts pictured, including trashguard & fasteners. $255 - $380 +Gst
SEE PAGE 11
i BOOT OPTIONS
AND PRICING \ BT2540/BT2550
[\ \

Wetter with Seed Option
Provision for liquid/wetter
with the seed now comes
standard on Single-Shoot
Boots BT2540 & BT2550

Standard Single Shoot Boot
40mm or 50mm Closer

BT2370

“Y” Tube Single Shoot Boot Dual Shoot Boot
65mm Closer 65mm Closer

Pipe size at top of all boots is 38.4mm inside diameter. Cast boots
(BT2540/BT2550) taper down to 32mm to suit narrower hose sizes.
ADJUSTA-POINT OPTIONS FOR NT19 RIGID BOOT KITS

* Four 14mm Adjusta-Point options * Three height settings * Lo-Thro or Straight profiles

*Two different lengths *Liquid or Standard available in both lengths/profiles
The kit pictured above has the PT5640 point.

PT5650 PT5660

\
Q

‘ 2
R {\

§
\

PT5670

Adjusta-Point Adjusta-Point Adjusta-Point Adjusta-Point
14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid

PLEASE NOTE: Liquid point kits do not include parts for directing liquid to back of point. See page 13 for liquid kits.

10  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT19 ADJUSTA POINT & RIGID BOOT SEEDING KITS MATRIX

INSTRUCTIONS: 3. Select boot/closer from top row
1. Identify “Tyne Class” relevant to your machine/tyne 4. Find part number & price relevant to your tyne class where your point
2. Select Point from left column & boot choice intersect

Standard C-Shank tynes with 1/2” bolt holes & 1 3/4” spacings

O Examples: Morris 400lb, Flexicoil 350lb (holes reamed to 1/2”), Bourgault, Ezee-On, Horwood Bagshaw C-Shank

Standard C-Shank tynes with 1/2” bolt holes & 2 1/4” spacings
Examples: Morris 650lb/Hydraulic, John Deere 1810-1830, Flexicoil 5501b/650lb/Hydraulic

C-SHANK TYNE CLASS 2:

Edge-On tynes (wide foot with narrow shank) with 1/2” bolt holes

EDGE- TYNE CL 3 . . ’ .
sl Sk Examples: Horwood Bagshaw ScariBar, Gason Scari/Hydra Till & Shearer Universal

FOR TYNES NOT LISTED UNDER ANY OF THE THREE CLASSIFICATIONS, PLEASE CONTACT AGMASTER

BOOTS BT2540 40mm closer |BT2550 50mm Closer BT2370 ‘v’ 65mm Closer DBL-JI;IZS3hgoot (e
Rigid Boot Options ) 1
[ J
° POINT & HOLDER KIT
eeecee NO BOOT
NT19 Point & Holder Kits
POINTS include pins but no bolts
NT19 14mm‘Adjusta-Point
[ J
C-SHANK #1 PHB64618154 PHB64618155 PHB64618137 PHB64618139 PTH6461
PT5640
C-SHANK #2 Lo-Thro |PHB64618354 $255 PHB64618355 $255 PHB64618337 $310 PHB64618339 $355 PTH6461 $110
1 standard +GST +GST +GST +GST +GST
EDGE-ON #3 PHB64618454 PHB64618455 PHB64618437 PHB64618439 PTH6461
C-SHANK #1 PHB65618154 PHB65618155 PHB65618137 PHB65618139 PTH6561
W\ PT5650
C-SHANK #2 .0 Lo-Thro |PHB65618354 $280 PHB65618355 $280 PHB65618337 $335 PHB65618339 $380 PTH6561 $135
T Liquid +GST +GST +GST +GST +GST
EDGE-ON #3 \ PHB65618454 PHB65618455 PHB65618437 PHB65618439 PTH6561
C-SHANK #1 PHB66618154 PHB66618155 PHB66618137 PHB66618139 PTH6661
. PT5660
C-SHANK #2 i Straight |PHB66618354 $255 PHB66618355 $255 PHB66618337 $310 PHB66618339 $355 PTH6661 $110
Standard +GST +GST +GST +GST +GST
EDGE-ON #3 \ PHB66618454 PHB66618455 PHB66618437 PHB66618439 PTH6661
C-SHANK #1 PHB67618154 PHB67618155 PHB67618137 PHB67618139 PTH6761
PT5670
C-SHANK #2 . Straight |PHB67618354 $280 PHB67618355 $280 PHB67618337 $335 PHB67618339 $380 PTH6761 $135
L liquid +GST +GST +GST +GST +GST
EDGE-ON #3 \ PHB67618454 PHB67618455 PHB67618437 PHB67618439 PTH6761
C-SHANK #1 NO POINT BRB8154 BRB8155 BRB8137 BRB8139
NT19 Boot &
C-SHANK #2  Bracket kits will BRB8354 $120 BRB8355 $120 BRB8337 $175 BRB8339 $220
only fit with NT19 +GST +GST +GST +GST
Points — Cast Mild Steel
PT5640 PT5660 PT5670
Adjusta-Point Adjusta-Point Adjusta-Point Adjusta-Point
14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid Exc Inc
PT5640 14mm Adjusta-Point Lo-Thro Standard $ 85.00 $ 93.50
PT5650 14mm Adjusta-Point Lo-Thro Liquid $110.00 $121.00
PT5660 14mm Adjusta-Point Straight Standard $ 85.00 $ 93.50
PT5670 14mm Adjusta-Point Straight Liquid $110.00 $121.00
Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 11

www.agmaster.com.au



Holders & Fasteners

HL§§10 PIR41 HL5600 PIR45 UBN5611

Adjusta-Point 12mm Square Head Adjusta-Point 12mm Cuphead Pin U-Bolt to secure
Holder 2021 Pin & R Clip for Holder 2018-2020 & R Clip for point holder
Uses pin PIR41 Adjusta-Point Uses Pin PIR45 Adjusta-Point & boot adapter
For holder HL5610 For holder HL5600 Exc Inc
HL5610 Adjusta-Point Holder 2021 - current $25.00 $27.50
PIR41 Pin 12mm x 41mm Square & R Clip for Adjusta-Point 2021 $200 $220
HL5600 Adjusta-Point Holder 2018-2020 $25.00 $27.50
PIR45 Pin 12mm x 45mm Cup Head & R Clip for Adjusta-Point 2018-2020 $200 $220
PI112A41 Pin 12mm x 41mm Square for Adjusta-Point 2021 S 190 S 2.09
PI12A45 Pin 12mm x 45mm Cup Head for Adjusta-Point 2018-2020 $ 190 $ 2.09
PI432R R-Clip 43x 2.5 $ 0.20 $ 0.22
UBN5611 M12 U-Bolt 80x52 w/ Nuts & Washers - for Adjusta-Point to Multi-Boot $ 5.00 S 5.50
UBN5612* M12 U-Bolt 90x52 w/ Nuts & Washers - for Adjusta-Point to NT11 Seeker $ 5.00 S 5.50
UBN5613 M12 U-Bolt Bent 80x52 w/Nuts & Washers - for Adjusta-Point to NT11 Rigid Bt $ 5.00 $ 5.50
* Requires 1x UB5620 - Backing Plate for Adjusta-point to NT11 Seeker Boot $4.00 S 4.40
Boots & Brackets
Ak BT2370 BR5810 BR5840 UBN5611
BN N
[T D
‘tj o /‘ ] / o ¢
| 4‘/0// /1
Standard Single “Y” Tube Dual Shoot Boot NT19 C-Shank NT19 Edge-On U-bolt for point
Shoot Boot Single Shoot Boot 65mm Closer Bracket for Bracket for holder & bracket
40 or 50mm Closer 65mm Closer Rigid Boots Rigid Boots
Wetter with Seed Option: Provision for liquid/wetter with the seed
now comes standard on Single-Shoot Boots BT2540 & BT2550. WELD-ON CLOSER PLATES
Exc Inc
BR5810 NT19 C-Shank Rigid Boot Bracket $ 55.00 S 60.50
BR5840 NT19 Edge-On Rigid Boot Bracket $ 55.00 S 60.50
BT2540 40mm Closer Single Shoot recommended for use with 12mm Point $ 60.00 S 66.00
BT2550 50mm Closer Single Shoot recommended for use with 16mm Point $ 60.00 S 66.00
BT2370 65mm Closer with ‘Y’ Tube Single Shoot $115.00 $126.50
BT2380 65mm Closer with Side-by-Side Tubes. Obsolete when stock exhausted $115.00 $126.50
BT2390 65mm Closer Dual Shoot with ‘Y’ seed spreader at front and fertiliser tube behind $160.00 $176.00
BT2399  Split Fert Knife Weld-on $ 22.00 $ 24.20
BT2398 Split Boot Side Pipe Protectors hardfaced (price per set of 2) $ 10.00 $ 11.00
BNW122 %" x 2” Bolt, Nut & Washer for securing boot to bracket (2 required per boot) $ 3.00 $ 3.30

12 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT19 RIGID BOOT LIQUID KITS

Exc Inc
Liquid Kit - Single $26.00 S 28.60

Liquid Kit - Double $42.00 $46.20

Liquid Kit Single Liquid Kit Double
LFK51 NT19/NT11 Liquid Fertiliser Kit - Single to take flexible 3mm tube with 6mm casing
LFK52 NT19/NT11 Liquid Fertiliser Kit - Double to take flexible 3mm tube with 6mm casing
LFK53 NT19/NT11 Liquid Fertiliser Kit - Single to take 4-6mm flexible tube with 10mm casing
LFK54 NT19/NT11 Liquid Fertiliser Kit - Double to take 4-6mm flexible tube with 10mm casing

PLEASE NOTE: Our liquid kits have been designed for use with NT19/NT11
Rigid Boots but some users have modified them to suit Flexi-Boots in the past.
Contact Agmaster for more information if required.

NT19/NT11 Liquid Kit Parts

|\
LF2510 LF2520 LF2550 LF2570 PC6S
LF2530 LF2540 LF2580 PC10S
Exc Inc

LF2510 Liquid Fertiliser Clamp Plate - Single - Suit 3mm tube/6mm casing $15.00 $16.50
LF2520 Liquid Fertiliser Clamp Plate - Double - Suit 3mm tube/6mm casing $20.00 $22.00
LF2530 Liquid Fertiliser Clamp Plate - Single - Suit 4-6mm tube/10mm casing $15.00 $16.50
LF2540 Liquid Fertiliser Clamp Plate - Double - Suit 4-6mm tube/10mm casing $ 20.00 $22.00
LF2550 Liquid Fertiliser ‘P’ Clamp Lug $ 400 $ 4.40
LF2570 Liquid Fertiliser casing 6mm Shaped - to suit 3mm tube $ 500 $ 5.50
LF2580 Liquid Fertiliser casing 10mm Shaped - to suit 4-6mm tube $ 500 $ 5.50
PC6S P Clamp 6mm Stainless Steel $ 200 $ 220
PC10S P Clamp 10mm Stainless Steel $ 200 $ 220
BON6M16S Bolt 6mm x 16mm Stainless Steel and Nylock Nut S 0,60 S 0.66

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 13
www.agmaster.com.au



NT19 ADJUSTA-POINT & FLEXIBOOT SEEDING KITS

SUITS: Double-bolt C-Shank and Edge-On tynes with 1/2” bolt holes (Examples listed on page 15)

* Progression of our NT11 Point & Flexiboot Kits ~ *Four Adjusta-Point options

* Height-adjustable flexible boot made with hydraulic hose and inner spring * Single or Dual Shoot
* Easy access pin and bolts * Option for liquid in knife point slot (using modified liquid kit) * Trashguard

included

NT19 FLEXIBOOT
Included: All parts pictured, including trashguard & fasteners. 5325 - $350 il
SEE PAGE 15
FOR PART #’S
E— o BOOT OPTIONS
FB2840 FB2850

®)
(3
;
L
0 J Flexiboot with 40mm Closer Flexiboot with 50mm Closer
Recommended width
PT5640 O
ﬁ Pipe size of boots is 38 mm inside diameter.

ADJUSTA-POINT OPTIONS FOR NT19 FLEXIBOOT KITS

* Four 14mm Adjusta-Point options * Three height settings * Lo-Thro or Straight profiles
*Two different lengths *Liquid or Standard available in both lengths/profiles
The kit pictured above has the PT5640 point.

<\ PT5650 PT5660
\
Q
Q

. *\‘

PT5670

Adjusta-Point Adjusta-Point Adjusta-Point Adjusta-Point
14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid

PLEASE NOTE: Liquid point kits do not include parts for directing liquid to back of point. Our liquid kits have
been designed for use with NT19/NT11 Rigid Boots but some users have modified them to suit Flexiboots in the past.
See page 13 for liquid kits and contact Agmaster for more information if required.

14  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au




NT19 ADJUSTA POINT & FLEXIBOOT SEEDING KITS MATRIX

INSTRUCTIONS:

2. Select Point from left column

1. Identify “Tyne Class” relevant to your machine/tyne

3. Select boot/closer from top row

4. Find part number & price relevant to your tyne class
where your point & boot choice intersect

C-SHANK TYNE CLASS 1:

Standard C-Shank tynes with 1/2” bolt holes & 1 3/4” spacings

Examples: Morris 400lb, Flexicoil 350lb (holes reamed to 1/2”), Bourgault, Ezee-On, Horwood Bagshaw C-Shank

C-SHANK TYNE CLASS 2:

EDGE-ON TYNE CLASS 3:

Standard C-Shank tynes with 1/2” bolt holes & 2 1/4” spacings

Examples: Morris 650lb/Hydraulic, John Deere 1810-1830, Flexicoil 5501b/6501b/Hydraulic

Edge-On tynes (wide foot with narrow shank) with 1/2” bolt holes
Examples: Horwood Bagshaw ScariBar, Gason Scari/Hydra Till, Shearer Universal, Simplicity

FOR TYNES NOT LISTED UNDER ANY OF THE THREE CLASSIFICATIONS, PLEASE CONTACT AGMASTER

BOOTS
Flexiboot Options
)

Teeee)

FLEXIBOOT & BRACKET

FB2840 40mm Closer

(Recommended)

FB2850 50mm Closer

POINT & HOLDER

NO BOOT
NT19 Point & Holder Kits
include pins but no bolts

POINTS
NT19 14mm Adjusta-Point
°
°
A 4

C-SHANK
TYNE #1
C-SHANK TTST?:‘O
TYNE #2 o-ihro

EDGE-ON
TYNE #3

C-SHANK
TYNE #1

PT5650

CSHANK Lo-Thro

TYNE #2

Liquid
EDGE-ON
TYNE #3
C-SHANK
TYNE #1 NN
C-SHANK ) ';:rsa?gi(t’
TYNE #2 ‘ Standard
EDGE-ON
TYNE #3
C-SHANK
TYNE #1
C-SHANK '235_51?
TYNE #2 raig
Liquid
EDGE-ON
TYNE #3
C-SHANK
TYNE #1
NO POINT

C-SHANK NT19 Boot & Bracket
TYNE #2 kits will only fit with

NT19 Adjusta-Points
EDGE-ON
TYNE #3

PHB64619184

PHB64619384

PHB64619484

PHB65619184

PHB65619384

PHB65619484

PHB66619184

PHB66619384

PHB66619484

PHB67619184

PHB67619384

PHB67619484

BRB9184

BRB9384

BRB9484

$325
+GST

$350
+GST

$325
+GST

$350
+GST

$190
+GST

PHB64619185

$325

PHB64619385 L GST

PHB64619485

PHB65619185

$350

PHB65619385 +GST

PHB65619485

PHB66619185

$325

PHB66619385 L GST

PHB66619485
PHB67619185
PHB67619385 ﬁgg?
PHB67619485

BRB9185

BRB9385 »190

BRB9485

PTH6461

$110

PTH6461 ST

PTH6461

PTH6561

$135

PTH6561 ST

PTH6561

PTH6661
PTH6661 féi?
PTH6661
PTH6761
PTH6761 fézf

PTH6761

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 15
www.agmaster.com.au



NT19 FLEXI BOOT REPLACEMENT PARTS

Points (Cast Mild Steel)

PT5640 PT5650 PT5660 PT5670

Adjusta-Point Adjusta-Point Adjusta-Poinf Adjusm-Poini
14mm Lo-Thro 14mm Lo-Thro 14mm Straight 14mm Straight
Standard Liquid Standard Liquid
Exc Inc
PT5640 14mm Adjusta-Point Lo-Thro Standard $85.00 $ 93.50
PT5650 14mm Adjusta-Point Lo-Thro Liquid $110.00 $121.00
PT5660 14mm Adjusta-Point Straight Standard $85.00 $ 93.50
PT5670 14mm Adjusta-Point Straight Liquid $110.00 $121.00
Holders & Fasteners
HL5610 PIR41 HL5600 PIR45 UBNXXXX
% %\\\ \
NG
Adjusta-Poif# 12mm Square Head Adjusta-Point 12mm Cuphead Pin U-Bolt to secure
Holder 2021 Pin & R Clip for Holder 2018-2020 & R Clip for point holder
Uses pin PIR41 Adjusta-Point Uses Pin PIR45 Adjusta-Point & boot adapter
For holder HL5610 For holder HL5600
Exc Inc
HL5610 Adjusta-Point Holder 2021 - current $25.00 $27.50
PIR41 Pin 12mm x 41mm Square & R Clip for Adjusta-Point 2021 $200 $220
HL5600 Adjusta-Point Holder 2018-2020 $25.00 $27.50
PIR45 Pin 12mm x 45mm Cup Head & R Clip for Adjusta-Point 2018-2020 $200 $ 220
PI12A41 Pin 12mm x 41mm Square for Adjusta-Point 2021 $190 $ 2.09
PI12A45 Pin 12mm x 45mm Cup Head for Adjusta-Point 2018-2020 $190 S 2.09
PI1432R R-Clip 43 x 2.5 $0.20 $0.22
UBN2001 M12 U-Bolt 65x52 w/ Nuts & Washers - for Adjusta-Point to Flexiboot $ 5.00 $ 5.50
UBN2002 M12 U-Bolt 90x30 w/ Nuts & Washers - Edge-On Tyne top U-Bolt $5.00 $5.50
UBN5611 M12 U-Bolt 80x52 w/ Nuts & Washers - for Adjusta-Point to Flexiboot $ 500 $5.50

(Edge-On Tyne bottom u-bolt)

16  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



Flexi Boots & Other Parts

FB2840 FB2870 HC52T FB2834 CL2844 SP2880
FB2850 FB2835 CL2845
Exc Inc
FB2870 Flexi Boot hose 340mm long $30.00 $33.00
HC52T Hose Clamp $ 5.00 $ 5.50
FB2840 Flexi Boot 40mm Closer — Inc SP2880 $90.00 $99.00
FB2850 Flexi Boot 50mm Closer — Inc SP2880 $90.00 $99.00
FB2834 Hose Insert with 40mm Closer $48.00 $52.80
FB2835 Hose Insert with 50mm Closer $48.00 $52.80
CL2844 Closer Plate, weld-on, 40mm wide $25.00 $27.50
CL2845 Closer Plate, weld-on, 50mm wide $25.00 $27.50
SP2880 Spring Inner 200 x 37 $10.00 $11.00

Brackets & Fasteners

| o !
FB2910 FB2980 FB2810 FB2820 UBN2001 UBN2007
FB2940 UBN2002
Exc Inc
FB2910 * Suits two bolt flat-on tynes $60.00 $66.00
FB2940 **  Suits two bolt edge on tynes $60.00 $66.00
FBH2980 Hose support bracket with hose clamp $20.00 $22.00
FB2810 Support Saddle $ 500 $ 5.50
FB2820 Grip Clamp $ 5.00 $ 5.50
UBN2001 M12 U-bolt 65 x 52 w Nuts & Washers $ 5.00 $ 5.50
UBN2002 M12 U-bolt 90 x 30 w Nuts & Washers $ 5.00 $ 5.50
UBN5611 M12 U-bolt 80 x 52 w Nuts & Washers $ 5.00 $ 5.50
UBN2007 M10 U-Bolt w Nuts & Washers to clamp hose $ 5.00 $ 5.50

to bracket 2 required per hose
* Uses 2x UBN2001
**¥  Uses 1x UBN2002 & 1x UBN5611

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 17
www.agmaster.com.au



NT19 EXTRAS
SUITS: Double-bolt C-Shank and Edge-On tynes with 1/2” bolt holes
* Front-of-tyne assembly *Four NT19 Adjusta-Point options *Compatible with full Agmaster Seeding Boot range

NT19 POINT & HOLDER KITS (NO BOOT)
Included: Point, Holder & Pin only. No bolts/u-bolts.

$110 - $135 +GsT

SEE PAGE 16 FOR
POINT OPTIONS &

SPARE PARTS

U-bolt and tyne bolt to be ordered
separately as these vary depending on
seeding boot type and
machine/tyne specifications.
Contact Agmaster if you require assistance.

Exc Inc
PTH6461 NT19 Adjusta-Point & Holder Kit w Lo-Thro Standard PT5640 Point $110.00 $121.00
PTH6561 NT19 Adjusta-Point & Holder Kit w Lo-Thro Liquid PT5650 Point $135.00 $148.50
PTH6661 NT19 Adjusta-Point & Holder Kit w Straight Standard PT5660 Point $110.00 $121.00
PTH6761 NT19 Adjusta-Point & Holder Kit w Straight Liquid PT5670 Point $135.00 $148.50

NT19 TRASHGUARDS
Will only fit up to NT19 Series Adjusta-Point Holders (HL5600/HL5610)

o))
)

g

£0)

/
)%

I

TGB5750 TG5750 BON8M65 BON8M45
TGB5730 TG5730
Exc Inc

TGB5750 NT19 Adjusta-Point Trashguard with bolts— Flat-on Tynes $25.00 $27.50
TGB5730 NT19 Adjusta-Point Trashguard with bolts— Edge-on Tynes $25.00 $27.50
TG5750 *  NT19 Trashguard for flat-on tynes $24.00 $26.40
TG5730 ** NT19 Trashguard for edge-on tynes $24.00 $26.40
BON8SMS65 Bolt M8 x 65 with nut $ 1.00 $ 1.10
BON8MA45 Bolt M8 x 45 with nut $ 1.00 S 1.10

*  Uses 1x BON8M®65 & 1x BON8M45
**  Uses 2x BON8M45

18  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT20 MULTI-BOOT MODULE

SUITS: * Morris Contour 2, Contour 3 & Quantum * Bourgault Paralink

*Modular system

*Standard & Liquid Adjusta-Point options

*Single-Row or Paired-Row

* Single or Dual Shoot * Option for liquid in knife point slot and/or with seed

NT20M MORRIS MULTIBOOT MODULE - SINGLE ROW

Included: All parts pictured, including fasteners.

SEE PAGE 21
FOR PART #’S
AND PRICING

NT20M MORRIS MULTIBOOT MODULE - PAIRED-ROW

$290 - $320 +GsT

POINT OPTIONS

PT6640
14mm Standard

Adjusta-Point

PT6650
14mm Liquid

Adjusta-Point

CLOSING TOOL OPTION

CL6240

(

)

Single-Row
45mm Closer

Included: All parts pictured, including & fasteners.

SEE PAGE 21
FOR PART #’S
AND PRICING

$385 - $475 +GsT

POINT OPTIONS

PT6640

14mm Standard
Adjusta-Point

PT6650
14mm Liquid

Adjusta-Point

SINGLE SHOOT DUAL SHOOT
PAIRED-ROW WING CLOSING TOOL OPTIONS
SW6290 SW6280
¥, O SW6E290 q o SW6280
\ /@ \\\\ - O
(57
Paired-Row Paired-Row
95mm Seeker Wing 85mm Seeker Wing
~75mm rows ~65mm rows

SW6270

S\
—)

\

.

ﬂ“ 2
8
=

——
Paired-Row
75mm Seeker Wing
~55mm rows

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 19

www.agmaster.com.au



NT20B BG PARALINK MULTIBOOT MODULE - SINGLE ROW $320- $350 +Gst
Included: All parts pictured, including fasteners. i
SEE PAGE 21
FOR PART #’S
AND PRICING

POINT OPTIONS CLOSING TOOL OPTION

PT6640
14mm Standard

Adjusta-Point

CL6240

PT6650
14mm Liquid

Adjusta-Point

Single-Row
45mm Closer

NT20B BG PARALINK MULTIBOOT MODULE - PAIRED-ROW $415 - $505 +GsT

Included: All parts pictured, including & fasteners.
SEE PAGE 21
FOR PART #’S
AND PRICING

POINT OPTIONS

PT6640
14mm Standard

Adjusta-Point

PT6650
14mm Liquid

Adjusta-Point

"DUAL SHOOT

PAIRED-ROW WING CLOSING TOOL OPTIONS
SW6290 SW6280 SW6270

O SWE290 q O SW6280 O SWB270
\*@ S §p@

S ?y >
Paired-Row Paired-Row Paired-Row
95mm Seeker Wing 85mm Seeker Wing 75mm Seeker Wing
~75mm rows ~65mm rows ~55mm rows

20  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



21

1009 M4 J00YS
|en@ 13 Sulm WwS. 0LZIMS

1009 134 J00YS
|eng@ 13 Sulm WwSg 08ZIMS

1009 1434 100YS
|en@ 13 SuIm WwS6 06Z9MS

SuIM WwWSZ 0LZIMS

BuIm wwsg 08ZIMS

BUIM WWS6 06Z9MS

19500 wwiSsy 091D

(dlueys jen@) sa1d uns 10u saoq 310N

auiysew yujjesed
10} 3|npo|Al Suipaas }nesinog sins
(99) nnvoynog

ays

1OOHS 1TvNad/Mod a3divd
H3IQYO 1VID3dS A9 I19V1IVAY 39 AVIN SYIHLO SV YILSYINOV LIVINOD ISVIT1d ‘SNOILLYIIHISSY1D FHL 40 HIH1IF ¥IANN dI1SITLON SINVIN ITNAOW Y04

1OOHS I19NIS/MOY a3divd

saulydsew E:u:m_._.o
1 € JNOJUO) ‘Z 1N0JUO)) dY}) 10}
S9|NPOIAl Sulpads SIIOA :SHNS
(4) siHyON

MOY F1ONIS

TELTZOTE6TSINING TE8TOZ6TSINING TE620Z6TSINING LTOZ6TSINING 820Z6TSINING 620Z6TSINING ¥20T6TSINING og
pinbn
o1y1-o1
0599.1d
TELTOZBTSINING T€8ZOZBTSINING TE6Z0Z8TSINING LTOZSTSONING 820Z8TSINING 620Z8TSINING ¥202Z8TSINING 4N
TELTOZE6TYINING €820Z6TYINING TE620Z6TYINING LT0Z6TYINING 820Z6THINING 620Z6TYININd ¥2026TYINING og
pJepuels
o4y1-01
0v99.Ld
159 TELTOTSTYINING 159 T€8Z0TSTYINING 159 T€620T8TYINING 159° LT0Z8TYINING 159 820Z8TYINING 159 620Z8TYINING 159% ¥2028TYINING qN
SEVS SEVS Stvs S8€S G8€S S6€S 0627S$
°
°
jul0d-e1snlpy wwpt
S1INIOd

oo

[ ]
suondo jo0g9u|NIAl
sLo09

1035493Ul 210YD 100(q
julod JnoA a1aym aulydoew JnoA 01 Juead|aJ 3d14d g Jaqwinu Jed puld '
MoJ do3 WoJy 495012/100( 129198 ‘€
uwn|od Ya| wouy ulod 1939 7
aulydew JnoA 03 Jueasjas e 3NPoN,, Ajauap) ‘T

‘SNOILONYLSNI

XIHLVIA SHIGINNN 1HVd B S3I1Hd I1NAOIN 1O009-IL1NIA OZLN

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



NT20 MULTI-BOOT MODULE PARTS

Spare parts for Multi-Boot Module Seeding Kits for Morris Quantum, Contour 2/3 & Bourgault Paralink
Points & Closing Tools for Multi-Boot Module

PT6640

14mm Standard
Adjusta-Point

PT6640
PT6650
SW6290
SW6280
SW6270
CL6240

* or %%
* or * %k
* %k k
* %k %k
% %k %k

* %k k%

A

PT6650 SW6290 SW6280 SW6270

0O\

/) s—/O\___

// BWe290 Q\

A{/ \// )
/o /

YA

/o // A )
[ ( /(éi;/@/
b/ =,
)/ 4%
14mm Liquid Paired-Row Paired-Row Paired-Row
Adjusta-Point 95mm Seeker Wing 85mm Seeker Wing 75mm Seeker Wing

~75mm rows ~65mm rows ~55mm rows

Standard Point; 14mm, Lo-Thro style, height adjustable
Liquid Point; 14mm, Lo-Thro style, height adjustable
95mm Seeker Wing for Module; paired rows 75mm apart
85mm Seeker Wing for Module; paired rows 65mm apart
75mm Seeker Wing for Module; paired rows 55mm apart
45mm Closer for Module; single row

Other Parts for Multi-Boot Module

CL6240

cLlead0 )

Single-Row
45mm Closer

Exc Inc
$ 80.00 $ 88.00
$105.00 $115.50
$155.00 $170.50
$145.00 $159.50
$145.00 $159.50
$ 50.00 $ 55.00

BA6200 BA6260 LA6180 LA6190 FB5310 SL5520
(& /N 0)
Boot Adaptor Boot Adaptor Morris Leg Bourgault Leg Dual-Shoot Dry Stainless
2021 2020 Adaptor Adaptor Fertiliser Boot Liquid Tube
Exc Inc
BA6200 ****  Boot Adaptor 2021; mount for above closing tools and fertiliser boot $ 95.00 $104.50
BA6260 **%*  Boot Adaptor 2020; mount for above closing tools and fertiliser boot $ 95.00 $104.50
LA6180 *¥**  Leg Adaptor Morris; secures seeding system to machine $ 65.00 $ 71.50
LA6190  ***** | eg Adaptor Bourgault Paralink; secures seeding system to machine $ 95.00 $104.50
FB5310 *¥**  QOptional Dry Fertiliser Boot; drops fertiliser in between paired rows $ 50.00 $ 55.00
when used with SW6290 and SW6270
LF5520  ****** |iquid Fertiliser Tube; stainless steel tube for directing liquid fertiliser S 5.00ea $ 5.50ea
to back of point or for liquid with seed.
If using with point, 1 required per boot/closer. If for with seed then
1 required per seed row.
* Requires 1 x PIR41 12 x 41mm Pin Square & R-Clip w BR6200 (2021)  $ 2.00ea $ 2.20ed
** Requires 1 x PIR45 12 x 45mm Pin & R-Clip w BR6260 (2020) $ 2.00ea $ 2.20ea
ek Requires 2 x BNW122 %" x 2" Bolt, Nut & Washer $ 3.00ea $ 3.30ea
Fkdk S 3.00ea S 3.30ea

*kkkk

Fedededd R

Requires 3 x BNW12134  '2” x 2" Bolt, Nut & Washer
Requires 2 x BNW16M55

M16 x 55 Bolt, Nut & Washer & 1x original BG u-bolt
Requires 1 x BO6M16S M6 x 16 Bolt (1 required per tube)

S 4.00ea S 4.40ea
S 0.50ea S 0.55ea

22 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



NT21 BOURGAULT PLDS REPLACEMENT POINTS

We now have the following non-genuine replacement parts available to suit the Bourgault PLDS.
Pre-order recommended

(@]

Il \

PT7710 PT7720

Exc Inc
PT6710 Fertiliser Knife to suit PLDS $130.00 $143.00
PT6720 Seed Knife to suit PLDS $90.00 S 99.00

NT21M DUAL IN-LINE FOR MORRIS QUANTUM & CONTOUR 2/3

This dual-shoot in-line system is currently compatible only with the Morris Quantum & Contour 2/3. It was developed
to fulfill customer requirements that our Multi-Boot Module system was unable to meet.

Dual In-Line Parts

PT5060 PT5070

Exc Inc
PMI063554 Standard Dual In-Line Kit $365.00 $401.50
Dual In-Line Seeding Kit for Morris; 12mm Standard Adjustable

Point, 40mm Closer
PMI073554 Liquid Dual In-Line Kit $390.00 $429.00

Dual In-Line Seeding Kit for Morris; 12mm Liquid Adjustable
Point, 40mm Closer. Pictured.

SL5350 FB5350 BT5540

O
E
m i
~—]

o [
0 [
Exc Inc
PT5060 * Standard Point; 12mm height-adjustable standard point $ 75.00 $ 82.50
PT5070 * Liquid Point; 12mm height-adjustable liquid point $100.00 $110.00
SL5350 *k Leg; holds point and attaches seeding kit to machine $115.00 $126.50
FB5350 ***  Dry Fertiliser Boot; dual-shoot behind point $100.00 $110.00
BT5540 **%  Seeding Boot; 40mm closer plate $ 70.00 $ 77.00
* Requires 1 x BNW12112  %” x1%” Bolt, Nut & Washer S 3.00ea S 3.30ea
*ok Requires 2 x BNW122 %” x 2” Bolt, Nut & Washer $ 3.00ea $ 3.30ea
*okok Requires 2 x BNW12112  %” x 2” Bolt, Nut & Washer $ 3.00ea $ 3.30ea

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 23

www.agmaster.com.au



NT21D ADJUSTA-POINT FOR DBS

SUITS: DBS/Groundhog shanks
* Front-of-tyne assembly *14mm Adjusta-Point *Five depth settings 120 - 200mm
*Unique holder design with built-in trashguard *Easy access 12mm pin & R-clip

Exc Inc
PTH7610 $125.00 $137.50
NT21D Adjusta-Point & Holder Kit to suit DBS

INCLUDED: Point, Holder & Retaining Pin as

pictured
NT21D Parts
PT7760 HL7710 PIR41
9
A
iy
&
NT21D Adjusta-Point NT21D Point Holder 12mm Square Head
to suit DBS to suit DBS Pin & R Clip
Exc Inc
PT7760 NT21D 14mm Adjusta-Point to suit DBS $ 95.00 $104.50
HL7710 NT21D Point Holder to suit DBS $ 30.00 $ 33.00
PIR45 Pin M12 x 45mm Square Head & R-Clip for Adjusta-Point 2021 on S 200 $ 220
PI12A41 Pin M12 x 45mm Square Head for Adjusta-Point 2021 on $ 190 $ 2.09
PI432R  R-Clip 43 x 2.5mm $ 020 S 0.22

24 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



EMU TRACKER WHEELS

SUITS: Bourgault Paralink, Morris Quantum, Morris Contour 2/3 & Horsch Sprinter. Other makes may be adaptable.
These wheels have a unique design which addresses the issue of presswheel furrow smearing on

some parallelogram seeding modules (as listed above) The Emu Tracker wheel replaces the existing presswheel on
these modules. The flexible feet flick some of the loose soil back into the seeding row while giving some pressing

effect. They are most effective in moist clay soil conditions.
Inc

Exc
CF7560 Emu Tracker complete wheel assembly for Morris Quantum, C2 & Paralink $250.00 $275.00
CF7360 Emu Tracker complete wheel assembly for Horsch Sprinter $250.00 $275.00
CF7160 Emu Tracker replacement tyre only $115.00 $137.50

EARLY MODEL MORRIS C2 & BOURGAULT PARALINK PARTS

o
O
O
‘ ‘ O ‘
/ / ©
/I'X /" / '. /\
PT6040 PT6050 FB6410 SL5340 PT5040 PT5050
KWIK FIT MODULE 2017-2018 PARTS (Morris C2 & Bourgault Paralink) Exc Inc
PT6040 * Standard Point; 14mm, Lo-Thro, height adjustable S 75.00 S 82.50
PT6050 * Liquid Point; 14mm, Lo-Thro, height adjustable $100.00 $110.00
FB6410 *% Optional Dry Fertiliser Boot; drops fertiliser in between paired rows $ 50.00 S 55.00
when used with SW6720 and SW6820
MORRIS CONTOUR 2 2015-2016 PARTS
SL5340 **%  MC2 Seeker leg to hold point & seeker boot $115.00 $126.50
PT5040 *¥*¥%*  12mm Standard point to suit MC2 SL5340 $ 75.00 S 82.50
PT5050 ***%  12mm Liquid point to suit MC2 SL5340 $100.00 $110.00
* Requires 1x BNW7162 7/16” x 2” Bolt, Nut & Washer $3.00ea $3.30ea
*ok Requires 1x BNW12M55 M12 x 55 Bolt, Nut & Washer $2.00ea S 2.20ea
**%  Requires 2x BNW122 %” x 2” Bolt, Nut & Washer $3.00ea $3.30ea
*¥***  Requires 1x BNW12134 %” x 1%” Bolt, Nut & Washer $3.00ea $3.30ea

FOR CURRENT MORRIS QUANTUM & CONTOUR 2/3 KITS, PLEASE REFER TO PAGE 19

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 25
www.agmaster.com.au



26  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT11 POINT & RIGID BOOT SEEDING KITS

SUITS: Double-bolt C-Shank and Edge-On tynes (Examples listed on page 28)

*Seven NT11 Point styles with a mixture of Straight or Lo-Thro profiles and Standard or Liquid options
* Three height-adjustable seeding boot styles with Single or Dual Shoot options

* Provision for liquid in knife point slot and/or with seed (select boots only) * Accessories such as
Trashguards & Liquid Kits available (P36/37)

NT11 RIGID BOOT

Included: All parts pictured including fasteners. SZOS - $350 +GST
SEE PAGE 28

FOR PART #'S BOOT OPTIONS

AND PRICING

BT2540/BT2550
~

l Wetter with Seed Option:
Provision for liquid/wetter
with the seed now comes
standard on Single-Shoot
Boots BT2540 & BT2550.

Standard Single Shoot Boot
40mm or 50mm Closer

BT2370

“Y” Tube Single Shoot Boot
65mm Closer 65mm Closer

Pipe size at top of all boots is 38.4mm inside diameter. Cast boots
(BT2540/BT2550) taper down to 32mm to suit narrower hose sizes.

POINT OPTIONS FOR NT11 RIGID BOOT KITS

*Three widths; 12mm & 16mm Straight or 14mm Lo-Thro profiles *16mm Winged option

*Liquid or Standard available in all widths of the Straight & Lo-Thro profiles

* Soft Point Option: A softer tip on the points for extremely rocky conditions is available for kits with PT1120 and

PT1160 points. These are identified by the point being painted. There is no price difference for “Red” points.
PT1120 *PT1150 PT1140 *PT1170 PT1160 *PT1190 PT1130

12mm 12mm 14mm 14mm 16mm 16mm 16mm
Straight Straight Lo-Thro Lo-Thro Straight Straight Winged
Standard Liquid Standard Liquid Standard Liquid Standard

* PLEASE NOTE: Kits with Liquid Points do not include parts for directing liquid to back of point. See page 37 for
liguid kits.
Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 27
www.agmaster.com.au




NT11 RIGID SEEDING KITS PRICE & PART NUMBERS MATRIX

INSTRUCTIONS: 3. Select boot/closer from top row
1. Identify “Tyne Class” relevant to your machine/tyne 4. Find part number & price relevant to your tyne class where your point
2. Select Point from left column & boot choice intersect

Standard C-Shank tynes with 1/2” bolt holes & 1 3/4” spacings
Examples: Morris 400lb, Flexicoil 350lb (holes reamed to 1/2”), Bourgault, Ezee-On, Horwood Bagshaw C-Shank

Standard C-Shank tynes with 7/16” bolt holes & 1 3/4” spacings
Example: Flexicoil 350lb (original un-reamed tyne bolt holes)

Standard C-Shank tynes with 1/2” bolt holes & 2 1/4” spacings
Examples: Morris 650Ib/Hydraulic, John Deere 1810-1830, Flexicoil 5501b/650lb/Hydraulic

Edge-On tynes (wide foot with narrow shank) with 1/2” bolt holes
IMPORTANT: These tynes have a specific bracket each, so the tyne ref. in the part number will need to be replaced with the
machine/tyne code from below in place of the OX e.g. PHB120X54 for Horwood Bagshaw Scaribar is PHB120954

Forwood Flexicoil Horwood |Simplicity/
TYNE REF CODES: Delta Edge-On Gason 5100 Bagshaw | Gason HT

05 06 07 09

C-SHANK TYNE CLASS 2:

C-SHANK TYNE CLASS 2:

C-SHANK TYNE CLASS 3:

EDGE-ON TYNE CLASS 4:

FOR TYNES NOT LISTED UNDER ANY OF THE FOUR CLASSIFICATIONS, PLEASE CONTACT AGMASTER
BOOTS RIGID BOOT OPTIONS POINT & HOLDER
Rigid Boot Options BT2540 40mm Closer BT2550 50mm Closer 5,1-2370 ey DBL.ll;Izsslwgc?t et e

[ J

[ J

o000 } NO BOOT

NT11 Point & Holder Kits

POINTS include pins but no bolts

NT11 Knife Points

C-SHANK#1 € PHB120154 PHB120155 PHB120137 PHB120139 PTH1210
PT1120*
C-SHANK #2 \ 12mm PHB120254 $2°5 PHB120255 $205 PHB120237 5260 PHB120239 $305 PTH1211 $85
C-SHANK#3 < Ssttragghtd PHB120354  *GST | PHB120355 +GST | PHB120337 +GST | PHB120339 +GST [ pTH1210  +GST
anaar

EDGE-ON #4 PHB120X54 PHB120X55 PHB120X37 PHB120X39 CHECK W AGM
C-SHANK#1 7 PHB150154 PHB150155 PHB150137 PHB150139 PTH1510
PT1150
C-SHANK #2 \ omm | PHB150254  ¢>30 | PHB150255 ¢330 | PHB150237 ¢ygs [ PHB150239 ¢330 | PTHIS11  ¢q99
C-SHANK #3 \ Straiszt PHB150354  +GST | pHB150355 +GST | PHB150337 +GST [ PpHB150339  +GST PTH1510 +GST
\ Y iqui
EDGE-ON #4 M\ PHB150X54 PHB150X55 PHB150X37 PHB150X39 CHECK W AGM

C-SHANK #1 PHB140154 PHB140155 PHB140137 PHB140139 PTH1410
PT1140

C-SHANK #2 lamm | PHB140254  ¢>15 | PHB140255 ¢>q5 | PHB140237 ¢p7( [ PHB140239 ¢31g PTH1411 $95

C-SHANK #3 Lo-Thro | pyB140354  +GST | PHB140355 +GST | PHB140337 +GST | PHB140339  +GST PTH1410 +GST

Standard
EDGE-ON #4 PHB140X54 PHB140X55 PHB140X37 PHB140X39 CHECK W AGM

C-SHANK #1 PHB170154 PHB170155 PHB170137 PHB170139 PTH1710
PT1170

C-SHANK #2 14mm PHB170254 $240 PHB170255 $240 PHB170237 $295 PHB170239 $340 PTH1711 $120

Lf.'”‘.[f PHB170354  +GST | pPHB170355 +GST | PHB170337 +GST | pPHB170339  +GST PTH1710 +GST
iqui
EDGE-ON #4 PHB170X54 PHB170X55 PHB170X37 PHB170X39 CHECK W AGM

C-SHANK #3

C-SHANK #1 Q. PHB160154 PHB160155 PHB160137 PHB160139 PTH1610

PT1160*

16mm

Ssttragghz PHB160354  +GST | PHB160355 +GST | PHB160337 +GST | PHB160339  +GST PTH1610 +GST
andari

‘C-SHANK#Z PHB160254 $215 PHB160255 $215 PHB160237 $270 PHB160239 $315 PTH1611 595

C-SHANK #3

EDGE-ON #4 i PHB160X54 PHB160X55 PHB160X37 PHB160X39 CHECK W AGM
C-SHANK #1 ° PHB190154 PHB190155 PHB190137 PHB190139 PTH1910

‘ PT1190

[ csnank 42 lomm | PHB190254  ¢>40 | PHB190255 ¢p40 | PHB190237 ¢yg5 [ PHB190239 ¢340 | PTHI911  ¢779
C-SHANK #3 . Straight | pyB190354  *+GST | pHB190355 +GST | PHB190337 +GST | pHB190339  +GST PTH1910 +GST

Liquid
EDGE-ON #4 \ PHB190X54 PHB190X55 PHB190X37 PHB190X39 CHECK W AGM

PHB130154 PHB130155 PHB130137 PHB130139 PTH1310

C-SHANK #1

—

csHANk#2 o PT1130 [ PHB130254 5o | PHB130255 ¢p5qg | PHB130237 4305 | PHB130239 ¢3509 | PTHI311  ¢q3p
| "i’\y) 16mm
CSHANK#3 | \yingeq |PHB130354  +GST [ pPHB130355 +GST | PHB130337 +GST | PHB130339 +GST PTH1310 +GST

EDGE-ON #4

PHB130X54 PHB130X55 PHB130X37 PHB130X39 CHECK W AGM

C-SHANK #1 NO POINT BRB0154 BRB0155 BRB0137 BRB0139 *TO ADD “RED” SOFT
f———— NT11 Boot & Bracket POINT OPTION AS

C-SHANK #2 kits are designed to fit BRB0254 BRB0255 BRB0237 BRB0239
———— " With NT11 Point $120 $120 $175 LYY EXPLAINED ON P26 FOR

C-SHANK#3 & Holders but are BRB0354 +GST BRB0355 +GST BRB0337 +GST BRB0339 NI PT1120 OR PT1160, ADD
adaptable to NT19 THE LETTER “R” TO END
Adjusta-Points BRBOX54 BRBOX37 BRBOX59 OF KIT PART #

28  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au

EDGE-ON #4 BRBOX55




NT11 FRONT OR BACK OF TYNE RIGID BOOT KITS

85 - 5130 +Gst

NT11 POINT & HOLDER KITS (NO BOOT)
Included: Point, Holder & Pin only. No bolts/u-bolts.

SEE PAGES 27-28
FOR POINT OPTIONS,
PART #’S & PRICING
Tyne bolts to be ordered separately if
required, as these vary depending on seeding
boot type and machine/tyne specifications.
Contact Agmaster if you require assistance.

NT11 BOOT & BRACKET KITS (NO POINT)

Included: All parts pictured including fasteners.

$120 - $220 +GsT

SEE PAGES 27-28
FOR BOOT OPTIONS,

PART #'S & PRICING

These assemblies suit the NT11 Points and Holders but can be

adapted to suit NT19 Adjusta-Points & Holders if required. The
range of NT11 Boots (pictured page 27 or 31) are available as a
Boot & Bracket kit.

FOR REPLACEMENT PARTS FOR THESE
KITS PLEASE REFER TO PAGE 31
NT11 REPLACEMENT PARTS
NT11 Point Holders & Retaining Pins

Fits NT11 Points (P30), NT11 Sweep Adaptors (P36) and NTO9 Points (pg 38)

- S

Holder for Points PT1120 — PT1190 and PT1962 — PT1964 as well as Sweep Adaptors Exc Inc
HL1100 Point Holder %" x 1%” & 2%” bolt centres $20.00 $22.00
For tynes with either 13" (44.5mm) or 24” (57mm) bolt centres and %" holes
e.g. Flexicoil 350lb reamed out to %” holes, Morris 400Ib, Bourgault, Ezee-on,
Flexicoil 550lb, John Deere 1610/1830, Horwood Bagshaw, Gason Scari and similar

HL1110 Point Holder 7/16” x 1%” bolt centres (12mm x 44.5mm) $20.00 $22.00
For Flexicoil 350lb, Gason 5100 2 bolt tyne and similar

HLT1100 Includes HL1100 and Retainer Pin (TSP) $21.00 $23.10

HLT1110 Includes HL1110 and Retainer Pin (TSP) $21.00 $23.10

TSP Pin ‘T’ Diameter 10mm + Pin Split 4 x 25mm $1.50 $1.65

TP1180 Pin ‘T’ Diameter 10mm $1.40 $1.54

Pl1425S Pin Split 4 x 25mm $0.20  $0.22

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 29
www.agmaster.com.au



NT11 REPLACEMENT PARTS

Points — Cast Mild Steel
Standard Points (Non-Liquid)

PT1120

PT1140

NT11 Point NT11 Point
12mm 14mm
Standard Lo-Thro
(12) (14)
PT1120 12mm Knife
PT1120R 12mm Knife — Red for rocky conditions
PT1140 14mm Lo Thro knife
PT1160 16mm Knife
PT1160R 16mm Knife — Red for rocky conditions
PT1130 16mm Winged

Liquid Fertiliser Points
PT1150

PT1160

PT1130

NT11 Point NT11 Point

16mm 16mm
Standard Winged

(16) (13)

Exc
$ 65.00
$ 65.00
$ 75.00
$ 75.00
$ 75.00
$110.00

PT1190

Inc
$ 71.50
$ 71.50
$ 82.50
$ 82.50
$ 82.50
$121.00

NT11 Point
12mm
Liquid Lo-Thro Liquid

(15)

PT1150 12mm Liquid Fertiliser Point
PT1170 14mm Lo Thro Liquid Fertiliser Point
PT1190 16mm Liquid Fertiliser Point

NT11 Point
16mm
Liquid

(19)
Exc
$ 90.00
$100.00

$100.00

FOR REPLACEMENT POINT HOLDER FOR THESE POINTS PLEASE REFER TO PAGE 29

Inc
$ 99.00
$110.00
$110.00

30  Useone of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



NT11 BRACKETS

‘»\ﬁ : “-
/@ 0 A
\@// - ’ <

BR2010 BR2040 BR2050 BR2060 BR2070 BR2080 BR2090
BR2030

59

QT
QQOVO

QAT

@

Exc Inc
BR2010 ***  Bracket %" x 1 %" bolt hole spacings $ 55.00 $ 60.50
Flat C-Shank tynes with %” x 1 %” e.q. Morris 4001b, Flexicoil 350lb, Bourgualt, Ezee-On, Horwood Bagshaw C-Shank
BR2030 ***  Bracket %" x 2 % “ bolt hole spacings $ 55.00 $ 60.50
Flat C-Shank tynes with %" x 2 %" e.q. Morris 650Ib, Flexicoil 550/650lb, John Deere 1810-1830
BR2040 **** Bracket AFM 340 Edge-on $ 55.00 $ 60.50
BR2050 **** Bracket Forwood Delta Edge-on $ 55.00 $ 60.50
BR2060 **** Bracket Flexicoil Edge-on $ 55.00 $ 60.50
BR2070 **** Bracket Gason 5100 Edge-on $ 55.00 $ 60.50
BR2080 **** Bracket Gason Scari Edge-on $ 55.00 $ 60.50
BR2090 **** Bracket Horwood Bagshaw Edge-On Scari Bar $ 55.00 $ 60.50
BR2110 **** Bracket Simplicity/Gason Hyd Edge-on $ 55.00 $ 60.50

*¥**  Uses UBN2001 - U-Bolt M12, 65 x 52, with Nuts & Washers
*¥*¥¥*  Uses UBN2002 - U-Bolt M12, 90 x 30, with Nuts & Washers
NT11 REPLACEMENT BOOTS
BT2540/BT2550 BT2370 BT2390
Wetter with Seed Option: Provision for liquid/wetter with the seed
now comes standard on Single-Shoot Boots BT2540 & BT2550.

Exc Inc
BT2540 40mm Closer Single System recommended for use with 12mm Point $ 60.00 $ 66.00
BT2550 50mm Closer Single System recommended for use with 16mm Point $ 60.00 $ 66.00
BT2370  65mm Closer with ‘Y’ Tube $115.00 $126.50
BT2380 65mm Closer with Side-by-Side Tubes. Obsolete when stock exhausted $115.00 $126.50
BT2390 65mm Closer Split System with ‘Y’ seed spreader at front and fertiliser $160.00 $176.00

tube following

BT2399  Split Fert Knife Weld-on $22.00 $ 24.20
BT2398  Split Boot Side Pipe Protectors hardfaced. perset $ 10.00 $ 11.00
BNW122 15" x 2” Bolt, Nut & Washer for securing boot to bracket (2 required per boot) $ 3.00 $ 3.30

FOR REPLACEMENT CLOSER PLATES FOR THESE BOOTS PLEASE REFER TO PAGE 39

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 31
www.agmaster.com.au



NT11 POINT & FLEXIBOOT SEEDING KITS

SUITS: Double-bolt C-Shank tynes with (Examples listed on page 34)

*Seven NT11 Point styles with a mixture of Straight or Lo-Thro profiles and Standard or Liquid options
* Height-adjustable flexible boot made from hydraulic hose and inner spring *Single or Dual Shoot
*40mm or 50mm closer plate options (40mm is the standard recommendation)

* Option for liquid in knife point slot (using modified liquid kit P37) * Accessories such as Sweep
Adaptors & Trashguards available (P36)

NT11 FLEXIBOOT

Included: All parts pictured, including fasteners.

$275 - $320 +GsT

SEE PAGE 34
FOR PART #'S
AND PRICING BOOT OPTIONS
FB2840 FB2850

Flexiboot with 40mm Closer Flexiboot with 50mm Closer
Recommended width

Pipe size of boots is 38 mm inside diameter.

POINT OPTIONS FOR NT11 FLEXI-BOOT KITS

*Three widths; 12mm & 16mm Straight or 14mm Lo-Thro profiles *16mm Winged option
*Liquid or Standard available in all widths of the Straight & Lo-Thro profiles

* Soft Point Option: A softer tip on the points for extremely rocky conditions is available for kits with PT1120 and
PT1160 points. These are identified by the point being painted. There is no price difference for “Red” points.

PT1120 *PT1150 PT1140 *PT1170 PT1160 *PT1190 PT1130

Straight Straight Lo-Thro Lo-Thro Straight Straight Winged
Standard Liquid Standard Liquid Standard Liquid Standard

* PLEASE NOTE: Liquid point kits do not include parts for directing liquid to back of point. Our liquid kits have
been designed for use with NT19/NT11 Rigid Boots but some users have modified them to suit Flexiboots in the past.
See page 37 for liquid kits and contact Agmaster for more information if required.

32 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au




NT11 FRONT OR BACK OF TYNE FLEXIBOOT KITS
SUITS: Double-bolt C-Shank and Edge-On tynes (examples listed page 34)
* Back-of-tyne assembly *40mm or 50mm closer plate options (40mm is the standard recommendation)

* Height-adjustable flexible boot made from hydraulic hose and inner spring *Single or Dual Shoot
NT11 FLEXIBOOT & BRACKET KIT $190 +asT
Included: All parts pictured, including trashguard & fasteners.

SEE PAGE 34 FOR
PART #'S

NT11 FRONT OF TYNE KITS
SUITS: Double-bolt C-Shank and Edge-On tynes (examples listed page 34)

* Front-of-tyne assembly *Seven NT11 point options *Compatible with full Agmaster Seeding Boot range

NT11 POINT & HOLDER KITS (NO BOOT)
Included: Point, Holder & Pin only. No bolts/u-bolts. $85 - $130 +ast

SEE PAGES 32 & 34
FOR POINT OPTIONS,

PART #'S & PRICING

Tyne bolts to be ordered separately if
required, as these vary depending on seeding
boot type and machine/tyne specifications.
Contact Agmaster if you require assistance.

SEE PAGES 29 - 30 FOR REPLACEMENT POINTS, HOLDERS & PINS

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 33
www.agmaster.com.au



NT11 FLEXIBOOT SEEDING KITS PRICE & PART NUMBERS MATRIX

INSTRUCTIONS:

2. Select Point from left column

1. Identify “Tyne Class” relevant to your machine/tyne

3. Select boot/closer from top row

4. Find part number & price relevant to your tyne class where your

point & boot choice intersect

C-SHANK TYNE CLASS 1:

Standard C-Shank tynes with 1/2” bolt holes & 1 3/4” spacings
Examples: Morris 4001Ib, Flexicoil 350lb (holes reamed to 1/2”), Bourgault, Ezee-On, Horwood Bagshaw C-Shank

C-SHANK TYNE CLASS 2:

Standard C-Shank tynes with 7/16” bolt holes & 1 3/4” spacings
Example: Flexicoil 350lb (original un-reamed tyne bolt holes)

C-SHANK TYNE CLASS 3:

EDGE-ON TYNE CLASS 4:

Standard C-Shank tynes with 7/16” bolt holes & 2 1/4” spacings
Examples: Morris 650lb/Hydraulic, John Deere 1810-1830, Flexicoil 5501b/650lb/Hydraulic

Edge-On tynes (wide foot with narrow shank) with 1/2” bolt holes
Horwood Bagshaw ScariBar, Gason Scari/Hydra Till & Simplicity

FOR TYNES NOT LISTED UNDER ANY OF THE FOUR CLASSIFICATIONS, PLEASE CONTACT AGMASTER

FLEXIBOOT BOOT & BRACKET

FB2850 50mm Closer

POINT & HOLDER

NO BOOT
NT19 Point & Holder Kits
include pins but no bolts

NT19 Adjusta-Points

EDGE-ON #4

BOOTS FB2840 40mm Closer (recommended)
Rigid Boot Options
°
°
XXX XX }
POINTS
NT11 Knife Points
°
°
C-SHANK #1 1\\315 PT1120 PHB127184
C-SHANK #2 12mm PHB127284 $275
C-SHANK #3 Straight PHB127384 +GST
SCUCEEY pHB127484
C-SHANK #1 ¢ PT1150 PHB157184
C-SHANK #2 12mm PHB157284 $300
C-SHANK #3 Straight PHB157384 +GST
Liquid PHB157484
C-SHANK #1 PT1140 PHB147184
C-SHANK #2 14mm PHB147284 $285
CSHANK#3 | Lo-Thro PHB147384 +GST
‘ SCUCEICE pHB147484
C-SHANK #1 © PT1170 PHB177184
C-SHANK #2 14mm PHB177284 $310
C-SHANK #3 Lo-Thro PHB177384 +GST
Liquid PHB177484
C-SHANK #1 1\\3& PT1160 PHB167184
C-SHANK #2 \Q 16mm PHB167284 $285
CSHANK# Straight PHB167384 +GST
LN CUREICE pHB167484
C-SHANK #1 PT1190 PHB197184
C-SHANK #2 16mm PHB197284 $310
C-SHANK #3 Straight PHB197384 +GST
Liquid PHB197484
C-SHANK #1 (% PHB137184
C-SHANK#2 % T;BO PHB137284 $320
) mm
_ GST
C-SHANK #3 f& Winged PHB137384 +
S PHB137484
C-SHANK #1 NO POINT BRB7184
NT11 Flexiboot kits are
C-SHANK #2  designed to fit with NT11 BRB7284 $190
Point & Holders but can be
C-SHANK #3 adapted to BRB7384

BRB7484

34 Use one of our online building tools for Seeding Kits ana

PHB127185
PHB127285 $275
PHB127385 +GST
PHB127485
PHB157185
PHB157285 $300
PHB157385 +GST
PHB157485
PHB147185
PHB147285 $285
PHB147385 +GST
PHB147485
PHB177185
PHB177285 $310
PHB177385 +GST
PHB177485
PHB167185
PHB167285 $285
PHB167385 +GST
PHB167485
PHB197185
PHB197285 $310
PHB197385 *GST
PHB197485
PHB137185
PHB137285 $320
PHB137385 +GST

PHB137485
BRB7185
BRB7285
BRB7385
BRB7485

$190

Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au

PTH1210
PTH1211 $85
PTH1210 +GST
PTH1210
PTH1510
PTH1511 $110
PTH1510 +GST
PTH1510
PTH1410
PTH1411

$95
PTH1410
PTH1410
PTH1710
PTH1711 $120
PTH1710 +GST
PTH1710
PTH1610
PTH1611 $95
PTH1610 +GST
PTH1610
PTH1910
PTH1911 $120
PTH1910 +GST
PTH1910
PTH1310
PTH1311 $130
PTH1310 +GST

PTH1310

*TO ADD “RED” SOFT POINT
OPTION AS EXPLAINED ON P26
FOR PT1120 OR PT1160, ADD THE
LETTER “R” TO END OF KIT PART #




NT11 FLEXI BOOT REPLACEMENT PARTS

Flexi Boots
-
-
FB2840 FB2870 HC52T FB2834
FB2850 FB2835
FB2870  Flexi Boot hose 340mm long
HC52T Hose Clamp
FB2840  Flexi Boot 40mm Closer — Inc SP2880
FB2850 Flexi Boot 50mm Closer — Inc SP2880
FB2834  Hose Insert with 40mm Closer
FB2835 Hose Insert with 50mm Closer
CL2844 Closer Plate, weld-on, 40mm wide
CL2845 Closer Plate, weld-on, 50mm wide
SP2880  Spring Inner 200 x 37
Flexi Boot Brackets
10 I
[ - ,>Tdf@
Ny o/
FB2710 FB2740 FBH2800 HC2145
FB2710 *Ex Suits two bolt flat tynes
FB2740 *¥*%*  Suits two bolt edge-on tynes
FBH2800 Hose support bracket with hose clamp (HC2145)
HC2145 Hose Clamp 21-45mm (for fertiliser tube)
FB2810 Support Saddle
FB2820 Grip Clamp
UBN2007 M10 U-Bolt to clamp hose to bracket

* %k Uses UBN2001 — U-Bolt M12, 65 x 52, with Nuts & Washers
*¥*¥**  Uses UBN2002 — U-Bolt M12, 90 x 30, with Nuts & Washers

FOR REPLACEMENT POINTS & HOLDERS PLEASE REFER TO PAGES 35-36

SP2880

Exc
$30.00
$ 5.00
$90.00
$90.00
$48.00
$48.00
$25.00
$25.00
$10.00

< ¢
N

\Q&

Inc
$33.00
$ 5.50
$99.00
$99.00
$52.80
$52.80
$27.50
$27.50
$11.00

FB2820

Exc
$60.00
$60.00
$20.00
$ 2.50
$ 5.00
$ 5.00
$ 5.00

Inc
$66.00
$66.00
$22.00
$ 2.75
$ 5.50
$ 5.50
$ 5.50

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 35

www.agmaster.com.au



NT11 OPTIONAL EXTRAS

Trashguard Kits & Parts

Will only fit up to NT11 series holders and PT1580 Bolt on Points on double hole tynes

s _
_ -

ey

\ N\
O\
AN V4

e
e e

-
TGU1170 TG1170 UBN1003 TG1173
TGU1177 UBN1004 TG1175
Exc Inc
TGU1170 Trashguard, U-Bolt and Lug Kit — Flat-on Tynes $35.00 $38.50
TGU1177 Trashguard, U-Bolt and Lug Kit— Edge-on Tynes $35.00 $38.50

PLEASE NOTE: These Trashguards do not fit the Gason Hydratill Edge-On tyne. Agmaster suggests ordering a sample
to see if any modifications can be made to make it fit this tyne before a full set is ordered.

TG1170 NT11 Trashguard $25.00 $27.50
UBN1003 U Bolt M10 75 x 52 with nuts — for Flat on Tynes $500 §$5.50
UBN1004 U Bolt M10 110 x 30 with nuts — for Edge on Tynes $500 $5.50
TG1175 U Bolt Lug to suit UB1003 $ 500 §$5.50
TG1173 U Bolt Lug to suit UB1004 $500 §$5.50
Sweep Adaptors

Uses retaining pin to secure into Point Holder (page 38)

“ Exc Inc

SW1210 Sweep Adaptor %" x 1%" bolt centre $30.00 $33.00
(12.7mm x 44.5mm)
\\'\ SW1220 Sweep Adaptor %" x 2%" bolt centre $30.00 $33.00
Q \ (12.7mm x 57mm)
SW1270 Sweep Adaptor 7/16” x 1%” bolt centre $30.00 $33.00
\ (12.5mm x 44.5mm)

Depending on Point or Wedge thickness, 2 different length plough bolts are required (Agmaster does not supply)
Sweep adaptor thickness is ~55mm and ~26mm around the bolt holes

36  Useone of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NT11 Liquid Kits

Liquid Kits piggy back the bracket of the NT11 Rigid Boot & Bracket Kits

Exc Inc
Liquid Kit — Single  $26.00 $28.60

Liquid Kit — Double  $42.00  $46.20

LIQUID KIT SINGLE LIQUID KIT DOUBLE
LFK51 NT19/NT11 Liquid Fertiliser Kit — Single to take flexible 3mm tube with 6mm casing
LFK52 NT19/NT11 Liquid Fertiliser Kit — Double to take flexible 3mm tube with 6mm casing
LFK53 NT19/NT11 Liquid Fertiliser Kit — Single to take 4-6mm flexible tube with 10mm casing
LFK54 NT19/NT11 Liquid Fertiliser Kit — Double to take 4-6mm flexible tube with 10mm casing

PLEASE NOTE: Our liquid kits have been designed for use with NT19/NT11 Rigid Boots but some users have
modified them to suit Flexi-Boots in the past. Contact Agmaster for more information if required.

NT11 Liquid Kit Parts

LF2510 LF2520 LF2550 LF2570 PC6S

LF2530 LF2540 LF2580 PC10S
Exc Inc
LF2510 Liquid Fertiliser Clamp Plate — Single — suit 3mm tube/6mm casing $15.00 $16.50
LF2520 Liquid Fertiliser Clamp Plate — Double — suit 3mm tube/6mm casing $20.00 $22.00
LF2530 Liquid Fertiliser Clamp Plate — Single — suit 4-6mm tube/10mm casing $15.00 $16.50
LF2540 Liquid Fertiliser Clamp Plate — Double — suit 4-6mm tube/10mm casing $20.00 $22.00
LF2550 Liquid Fertiliser ‘P’ Clamp Lug $4.00 S 4.40
LF2570 Liquid Fertiliser casing 6mm Shaped — to suit 3mm tube $5.00 $5.50
LF2580 Liquid Fertiliser casing 10mm Shaped — to suit 4-6mm tube $500 §$5.50
PC6S P Clamp 6mm Stainless Steel $200 $2.20
PC10S P Clamp 10mm Stainless Steel $200 $ 220
BON6M16S Bolt 6mm x 16mm Stainless Steel and Nyloc Nut $ 0.60 S 0.66

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 37
www.agmaster.com.au



NTO05 & NT09 Points

< NTO9 Series — Cut From Plate. Fits NT11 Holder
o)
@ " PT1962 - 16mm thick, 20mm shorter

\\ \ \\\ PT1963 - 16mm thick, 25mm longer

\\ \) (\\ \) (obsolete when stock exhausted)
\ R} \ PT1964 - 16mm thick, 40mm longer
M \ Weld-on Knives - For Self-Repair of NT09 Series Points
N 9
e PT1930 Weld On 12mm

PT1580R Weld-on  NTogpoint 11940 Weld On 16mm

Knife

NTO5 Series — 16mm Points - Double Hole Bolt on points
PT1580R *** or **** To suit all tynes with %" holes (only available in Red Soft Tip)

Hokk Uses %” x 3” Bolt & Nut (Part No. BNW123) through the tyne
ok Uses %" x 2%” Bolt & Nut (Part No BNW12212) through the tyne

Point Holders

Exc Inc
$80.00 $88.00
$95.00 $104.50

$100.00 $110.00

$50.00 $55.00
$60.00 $66.00

Exc Inc
$100.00 $110.00

Exc
HL1100 $20.00
HL1110 $20.00
HLT1100 $21.00
HLT1110 $21.00

Inc
$22.00

$22.00
$23.10
$23.10

Holder for Points PT1120 — PT1190 and PT1962 — PT1964 as well as Sweep Adaptors

HL1100 Point Holder 4" x 134” & 2%"” bolt centres
For tynes with either 1%” (44.5mm) or 2%” (57mm) bolt centres and %” holes
e.g. Flexicoil 350lb reamed out to %” holes, Morris 400lb, Bourgault, Ezee-On,
John Deere, John Shearer, Horwood Bagshaw, Gason Scari and similar

HL1110 Point Holder 7/16” x 13%” bolt centres (12mm x 44.5mm)
For Flexicoil 350Ib, Gason 5100 2 bolt tyne and similar

HLT1100 Includes HL1100 and Retainer Pin (TSP)

HLT1110 Includes HL1110 and Retainer Pin (TSP)

Retainer Pins
Fit series NTO9 & NT11 Points & Sweep Adaptors

TSP Pin ‘T’ Diameter 10mm + Pin Split 4 x 25mm
TP1180 Pin ‘T’ Diameter 10mm
P1425S Pin Split 4 x 25mm

Flexicoil 550Ib,
Exc Inc
$1.50 $1.65
$1.40 $1.54
$0.20 $0.22

38  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au




REPLACEMENT CLOSER PLATES

All closers have tungsten carbide corners unless noted ‘hard face weld'’.

NS
\! N

NTO03 40mm NTO7 Series NT19/NT11/09/08 Flexi Boots
Series
NTO3 Series Exc Inc
CL2440 40mm wide (obsolete when stock exhausted) $25.00 $27.50
NTO7 Series
CL2474 40mm wide (obsolete when stock exhausted) $25.00 $27.50

NT 11/09/08 Series — Weld on

CL2494* 40mm wide $25.00 $27.50
CL2494HF* 40mm wide with hard face weld $18.00 $19.80
CL2495%* 50mm wide $25.00 $27.50
CL2495HF* 50mm wide with hard face weld $18.00 $19.80
CL2496 65mm wide $28.00 $30.80
CL2496HF  65mm wide with hard face weld $21.00 $23.10

*If welding closers to Cast Boot BT2540/50 recommend to use Stainless electrode Gr 309

Flexi Boots — Weld on
CL2844 40mm wide $25.00 $27.50
CL2845 50mm wide $25.00 $27.50

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 39
www.agmaster.com.au



40  Useone of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



NTO8 POINT & BOOT KITS

NTO8 series Kits are for Single Bolt tynes and include Point, Boot, Bracket, Bolt & Nuts. These Kits are standard with
12mm Point and 40mm Closer Plate on Single System Boot but has the option of other Boots. (See Page 43)

Prices NTO8 Point & Boot Kit

Exc Incl
Standard Kit $185.00 $203.50

PBB812154 # NTO8 Alfarm 530/630, Napier Grasslands; 40mm Boot
PBB822254 # NTO8 Forward/Chamberlain 275 / 946/ 753 / 853; 40mm Boot
PBB842454 # NTO8 Shearer 580 / 620; 40mm Boot

PBB862654 # NTO8 Forward /John Deere / International Scarifier, Chamberlain Terramaster; 40mm Boot

For tynes not listed above, contact Agmaster.

# Soft Tip Option: A softer tip on the point for extremely rocky conditions is available for NT0O8 Kits identified
above with #. These are identified by the point being painted Red. To order this option an “R” needs to be added to
the part number. There is no price difference for “Red” points.

Example: A NTO8 Chamberlain 753 Kit with soft (red) points will be PBB822234R

NTO08 BOOT & BRACKET KIT (NO POINT)

Suitable for NTO3/NT08 series Agmaster Points. These assemblies include Bracket, Boot, U-bolt around tyne and
all bolts and nuts.

For Part No. change prefix to BRB and remove first 2 numbers i.e. Boot & Bracket Kit for Shearer 580/620 would be:
BRB2454 Price $115.00 exc $126.50 inc

FOR REPLACEMENT PARTS FOR THESE KITS PLEASE REFER TO PAGES 42-43

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 41
www.agmaster.com.au



NTOS8 SEEDING KIT REPLACEMENT PARTS

Points (Fabricated)

NTO8 Series — 12mm Points - Uses M12 U-Bolt to secure top of point

PT1810
PT1820
PT1830
PT1840
PT1850
PT1860
PT1865
PT1890
PT1930

Bolts & U-bolts:

H*H O O B

%k

* %

* %

* %k k

Weld On Knife

Alfarm 530 / 630, Napier Grasslands
Forward/Chamberlain 270 / 753 / 846 / 853

Gason Round Shoe (Obsolete after stock exhausted)
Shearer 580 / 620

Connershea Scari (Obsolete after stock exhausted)

John Deere / International Scari

J
HBSTM 16mm (Obsolete after stock exhausted)

ohn Deere / International Scari (16mm)

Weld On 12mm knife for self-repair

Exc
$70.00
$70.00
$70.00
$70.00
$70.00
$70.00
$ 85.00
$105.00
$50.00

Inc
$77.00
$77.00
$77.00
$77.00
$77.00
$77.00
$93.50
$115.50
$55.00

* Uses 7/16" x 2%” Bolt & Nut (Part # BNW716212) through the tyne + 1x U-bolt & Nuts (Part # UBN2004)
* % Uses %" x 2%” Bolt & Nut (Part No. BNW12214) through the tyne + 1x U-bolt & Nuts (Part # UBN2003)
*%*  Uses 9/16” x 3” Bolt & Nut through the tyne (Agmaster does not stock)

# Soft Tip Option: A softer tip on the point for extremely rocky conditions is available for NTO8 points
identified above with #. These are identified by the point being painted Red. To order this option an
“R” needs to be added to the part number. There is no price difference for “Red” points.

Brackets

BR2210
BR2220
BR2240
BR2250
BR2260
BR2270

* %k

k%

* %k

*

k%

Bracket
Bracket
Bracket
Bracket
Bracket
Bracket

BR2210 — BR2270

Alfarm 530 / 630

Forward/Chamberlain 270/ 753 /846 /853
Shearer 580 / 620

Connershea Scari

John Deere / International Scari

Shearer Scari

Uses UBN2004 - U-Bolt M12, 90 x 25, with Nuts & Washers
Uses UBN2003 - U-Bolt M12, 110 x 25, with Nuts & Washers

Exc
$50.00
$50.00
$50.00
$50.00
$50.00
$50.00

Inc
$ 55.00
$55.00
$55.00
$ 55.00
$55.00
$55.00

42 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



Replacement Boots

BT2540/BT2550 BT2370 BT2390

Standard Single-Shoot Boot “Y” Tube Single-Shoot Boot ual Shoot Boot
40 or 50mm Closer 65mm Closer 65mm Closer
Wetter with Seed Option:For the 2022 season, provision for liquid/wetter SEE PAGE 39 FOR REPLACEMENT
with the seed is available on Single-Shoot Boots BT2540 & BT2550 on request. WELD-ON CLOSER PLATES
Exc Inc
BT2540 40mm Closer Single System recommended for use with 12mm Point $ 60.00 $ 66.00
BT2550 50mm Closer Single System recommended for use with 16mm Point $ 60.00 $ 66.00
BT2370 65mm Closer with ‘Y’ Tube $115.00 $126.50
BT2380 65mm Closer with Side-by-Side Tubes. Obsolete when stock exhausted $115.00 $126.50
BT2390 65mm Closer Split System with ‘Y’ seed spreader at front and fertiliser $160.00 $176.00
tube following

BT2399 Split Fert Knife Weld-on $22.00 $ 24.20
BT2398 Split Boot Side Pipe Protectors hardfaced perset $ 10.00 $ 11.00

NTO3 SERIES REPLACEMENT PARTS

Points
NTO3 Series - 12mm Points - Uses 25 x 5 Flat Bar strap to secure top of point Exc Inc
PT1320 * Forward/Chamberlain 270/753/846/853 (Obsolete when stock exhausted) $65.00 $71.50

*  Uses 7/16” x 2%4” Bolt & Nut (Part No. BNW716212) through the tine

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 43
www.agmaster.com.au



CONCORD POINT & BOOT KITS

There are two options of kits for Concord Side-Mounted tynes:

The NT11 Converter Kit uses a bracket to allow NT11 points & boots to be mounted to it. This allows for a variety
of NT11 slip-on points as options as well as NT11 boots. The NT05 Bolt-On kit has a 16mm single piece bolt-on point
that is fixed directly to the tyne. An NT11 boot is then bolted to the back of the point.

NT11 Concorde Converter Kit NTO5 Bolt-On Kit
Exc Inc
PHB161655 NT11 16mm Concorde Converter Kit with 50mm Closer $255.00 $280.50
PTB5655 NTO5 16mm point, Concorde Bolt on Kit with 50mm Closer $185.00 $203.50

Soft Point Option: A softer tip on the points for extremely rocky conditions is available. These are identified by the
point being painted Red. To order this option an “R” needs to be added to the part number.

Replacement Parts for Concorde Point & Boot Kits

N %

BR2160 PT1560
Exc Inc
BR2160 Bracket Concorde Converter to NT11 $100.00 $110.00
PT1560 ** NTO5 Point Concorde Side Mount $125.00 $137.50

*k Uses %" x 2%” Bolt & Nut (Part No. BNW12214 ) through the tyne

FOR REPLACEMENT POINTS, HOLDERS & BOOTS FOR NT11 KITS PLEASE REFER TO PAGES 29 - 31

44 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



HARROWS

Star Harrow Gangs

The Rotary Star Harrows are available in 4ft, 5ft and 6ft coverage gangs. Each gang will cover its respective width
at the maximum working angle (30°). In general, most harrows are set in mid range of adjustment for angle, hence

there is usually ample to suit the required width of cover. 4ft and 5ft Gangs give a more even finish and 6ft gangs
are recommended to be used only if necessary.

Exc Inc

HAT24 4ft Gang (HA3240 — 10 Stars) with Turntable $1500.00 $1650.00
HAT25 5ft Gang (HA3250 — 13 Stars) with Turntable $1700.00 $1870.00
HAT26 6ft Gang (HA3260 — 16 Stars) with Turntable $1900.00 $2090.00
Order TAS-- Arms with these Harrows (page 46)

Coil Harrow Gangs

Coil Harrows are available in 4ft and 5ft coverage gangs

HAT74 4ft Gang (HA3740 - 3 springs) with Turntable $1350.00 $1485.00
HAT75 5ft Gang (HA3750 — 4 springs) with Turntable $1550.00 $1705.00

Order TAH-- Arms with these Harrows (page 46)

FOR REPLACEMENT PARTS FOR THESE GANGS PLEASE REFER TO PAGES 47 - 49

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 45
www.agmaster.com.au



TELESCOPIC MOUNTING ARMS

Telescopic Harrow Arms come complete with spring kit on the top, bolts, nuts and backing plates to mount on the

machine frame. One Arm required for each Harrow Gang.

Tele Arms to suit Star Harrows
TAS04  Telescopic Arm Kit to suit 100 x 100mm frame
TASO5  Telescopic Arm Kit to suit 75 x 75mm frame

TAS08  Telescopic Arm Kit to suit 75 x 75mm diamond frame (Shearer)

TASO0  Telescopic Arm Kit to bolt on behind Agmaster fixed extensions
for Presswheels

Tele Arms to suit Coil Harrows - comes with stronger spring for heavier coil gangs

TAHO4 Telescopic Arm Kit to suit 100 x 100mm frame
TAHO5 Telescopic Arm Kit to suit 75 x 75mm frame

TAHO08 Telescopic Arm Kit to suit 75 x 75mm diamond frame (Shearer)

TAHOO Telescopic Arm Kit to bolt on behind Agmaster fixed extensions
for Presswheels

Exc
$1000.00
$1000.00

$1000.00

$1000.00

$1000.00
$1000.00

$1000.00

$1000.00

Inc
$1100.00
$1100.00

$1100.00

$1100.00

$1100.00
$1100.00

$1100.00

$1100.00

FOR REPLACEMENT PARTS FOR THESE ARMS PLEASE REFER TO PAGES 47 - 48

46  Useone of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



HARROW COMPONENTS

TELE ARMS/TURNTABLE/GANG FRAME

Ref

O 0 N O U1 A WN

e =
N =B O

12a

13
14

Part No.
HA3340
HA3350
HA3360
UBN3003
HA3310
BNW20M60
TA3130
UBN3002
TA3120
UBN3001
HS3030
HS3040
BNW12M40
UBN3004
BNW20M120
VBN3006
HS3070
HS3080
HS3090
SP3011

Description

4’ U Frame

5 U Frame

6’ U Frame

U Bolt — M16, Nut & Washer
Turntable

Bolt —M20 x 60, Nut & Washer
Inner Arm

U Bolt — M16, Nut & Washer
Outer Arm

U Bolt — M20, Nut & Washer
Headstock

Pivot Pin

Bolt — M12 x 40, Nut & Washer

UBolt M20 — Supersedes HS3060

Bolt —M20 x 120, Nut & Washer
U-Bolt M20 x 140 x 122 ctr
Clamp Plate with BNW20M120
Clamp Plate used with UB3006
Spring Plate

Spring

HA3381 Pictured

Qty Remarks

1

P N NN DNUURRRRNRWRNIRR

N

For 100 mm Square RHS

For 75 mm Square RHS

Used with RHS Set on diagonal
For 75mm Square RHS

Used with RHS set on diagonal
(Not used on Combines)

(Not used on Combines)

Exc
$200.00
$220.00
$240.00
$ 15.00
$145.00
$ 6.00
$130.00
$ 20.00
$320.00
$ 35.00
$280.00
$ 28.00
$ 2.00
$ 25.00
$ 10.00
$ 25.00
$ 12.00
$ 18.00

Inc
$220.00
$242.00
$264.00
$ 16.50
$159.50
$ 6.60
$143.00
$ 22.00
$352.00
$ 38.50
$308.00
$ 30.80
S 220
$ 27.50
$ 11.00
$ 27.50
$ 13.20
$ 19.80

$ 10.00 $ 11.00

$ 5.00

$ 5.50

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 47
www.agmaster.com.au



Ref

15
16

17
18
19
20
21

21a

21b
22
23
24
25
26

48

Part No.

HK3610
SP3012
SP3013
SH10D
CH8X500
HK3620
BNW16M40
HA3370
HA3380
HA3371
HA3381
HA3372
BE114UCR3
BE114FL
BON16MS50CUP
XTA3123

Description

Spring Arm

Spring 350 long

Spring 460 long for Coil Harrows
Shackle

Chain 500mm long

Lifting Lug

Bolt — M16 x 40

Brace/Bearing RH Assembled
Brace/Bearing LH Assembled
Bracket — RH

Bracket — LH (shown)

Spacer plate

Bearing — UC207-20R3

Flanged housing — 1 1/4” F207
Cup Head Sq Bolt M16 x 50 & Nut
Tele Arm Outer Bush

Qty Remarks

N B N N NR R R RNRRWRRR

Includes 21a,22,23,24,25
Includes 21b,22,23,24,25

Triple Lip Seal

Nyaltron Insert

Exc

$68.00
$30.00
$40.00
$ 2.50
$10.00
$ 6.00
$ 4.00
$ 85.00
$85.00
$42.00
$42.00
$ 6.00
$20.00
$12.00
$ 6.00
$ 6.00

Inc

$74.80
$33.00
$44.00
$ 2.75
$11.00
$ 6.60
$ 4.40
$93.50
$93.50
$46.20
$46.20
$ 6.60
$22.00
$13.20
$ 6.60
$ 6.60

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



STARS, COILS & AXLES

Ref Part No. Description Qty Remarks
1 HA3440 4ft Axle 1
HA3450 5ft Axle 1
HA3460 6ft Axle 1
HA3510 Star Half 2 per star
3 HA3520 Star Tip 6 per star
HA3520x100 Star Tips Box of 100
4 BON8M35F Bolt 8M x 35mm flanged & Nut 6 per star
HA3500 Harrow Star Assembled 1 Items 2, 3, 4 Assembled
10 Stars per 4ft axle
13 stars per 5ft axle
16 stars per 6ft axle
5 HA3390 Slinger 2
6 HA3410 Sleeve 2
7 NU20MNY Nut — 20mm Nylock 2
8 SP3701 Spring Harrow Coil 3 Springs per 4ft axle
4 Springs per 5ft axle
9 HA3710 Coil Clamp 6 per 4ft axle
8 per 5ft axle
10 HA3720 Coil Clamp End Plate 2 per gang
11 BON16M110 Bolt M16 x 110 ZP, Nuts 8 per 4ft axle
10 per 5ft axle

Exc

$135.00
$145.00
$155.00
$ 25.00
$ 5.50
$500.00
$ 0.80

$ 75.00

$ 25.00
$ 5.00
$ 1.70
$155.00

$ 22.00

$ 12.00
$ 6.00

Inc

$148.50
$159.50
$170.50
$ 27.50
$ 6.05
$550.00
$ 0.88

$ 82.50

$ 27.50
$ 5.50
$ 1.87
$170.50

$ 24.20

$ 13.20
$ 6.60

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 49

www.agmaster.com.au



50  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



PRESSWHEEL MODULES

Presswheel modules are supplied individually and include “V” bolt to secure to 65x65x4mm mounting bar (page 55)

Exc Inc
PWF50 Presswheel Flat 50mm Assembly $430.00 $473.00
PWV70 Presswheel “V” 70mm Assembly $430.00 $473.00
PWV95 Presswheel “V” 95mm Assembly $430.00 $473.00
PWW100 Presswheel ‘W’ Shape 100mm Assembly $450.00 $495.00

FOR TYRE PROFILE IMAGES PLEASE REFER TO THE NEXT PAGE

Optional Extras

Inner Spring For extra down-pressure
SP4012 Optional Inner Spring 145 x 60 $15.00 $16.50

To add Inner Spring to presswheel, simply add SP4012 to your order, they will automatically be fitted during assembly

Presswheel Spacer For extra clearance between arm and wheel to assist in mud shedding

PW4440 Optional wheel to arm spacer $20.00 $22.00
BO16M120 Corresponding bolt M16 x 120 for above spacer $ 5.00 $ 5.50

For Presswheel modules ordered with spacer factory fitted add ‘S’ to above assembly part no’s.  $ 20.00 $22.00
E.g. 70mm V tyre profile with spacer would be PWV70S $450.00 $495.00

FOR REPLACEMENT PARTS FOR THESE KITS PLEASE REFER TO PAGES 56 - 59

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 51
www.agmaster.com.au



TYRE PROFILES

SEMI PNEUMATIC TYRE PROFILES (Actual Size on A4)

O

50mm Flat Tyre 70mm “V” Tyre
Crumbles side of narrow slot General purpose in mixed soil types

95mm “V” Tyre
Wide press on light sand soils

100mm W Tyre
For use with 95mm paired-row seeker boots

52 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



EMU TRACKER PRESSWHEEL MODULES

Presswheel modules are supplied individually and include “V” bolt to secure to mounting bar

Exc Inc

PWE130 Emu Tracker Presswheel 130mm Tyre Assembly

$485.00  $533.50

Optional Extras

Inner Spring For extra down-pressure

SP4012 Optional Inner Spring 145 x 60 $15.00 $16.50

To add Inner Spring to presswheel, simply add SP4012 to your order, they will automatically be fitted during assembly

Spare Parts

Exc Inc
$250.00 $275.00
$115.00 $137.50
$ 63.00 $ 69.30

CF7560 Emu Tracker replacement 5 stud wheel assembly

CF7160 Emu Tracker replacement tyre only

CF7050 Emu Tracker 5 stud single half hub (two required per wheel)

FOR OTHER REPLACEMENT PARTS FOR THE PIVOT/MOUNT ASSEMBLY PLEASE REFER TO PAGE 59

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 53
www.agmaster.com.au



PRESSWHEEL MOUNTING ARMS

Fixed Extension Arm - Single

These kits bolt onto rear frame of the machine and provide an adjustable position for the mount bar (not included)
to which the Presswheel bolts. Supplied with all parts & u-bolts pictured.

FEOO4

FEOO5

FEOOS8

FEOOO

DODO05

NOTE: 3x arms required for any
machine sections with 18+ standard
Presswheel modules or 12+ Emu
Tracker modules

Fixed Extension Arm Suits 100 x 100 frame
Fixed Extension Arm Suits 75 x 75 frame
Fixed Extension Arm diamond frame (Shearer)  Suits 75 x 75 diamond

Fixed Extension Arm To fit in front of existing
Agmaster Harrows

Compact Fixed Extension Arm to suit Duncan Suits 75 x 75 Duncan frame

Fixed Extension Arm - Double Outrigger

Exc
$600.00

$600.00
$600.00

$600.00

Inc
$660.00

$660.00
$660.00

$660.00

For short sections of Folding Machines i.e. 7ft or less with a maximum 10x standard Presswheel Modules or 7x Emu
Tracker Modules. Typically used on outer wings of Double Fold Machines

FEDO4

FEDO5

FEDOS8

FEDOO

FEL4015

Fixed Extension Arm with Double Outrigger Suits 100 x 100 frame

Fixed Extension Arm with Double Outrigger Suits 75 x 75 frame

Fixed Extension Arm with Double Outrigger Suits 75 x 75 diamond frame
(Shearer)

Fixed Extension Arm with Double Outrigger To fit in front of Agmaster
Harrows

Double Outrigger only For existing FE4030 or Harrow
Tele Arm

(If using FEL4015 on Harrow Tele Arm also order HS3050 x 1, PI8L x 2)
Per set HSP3050

$750.00
$750.00

$750.00

$750.00

$450.00

$ 20.00

Inc
$825.00

$825.00

$825.00

$825.00

$495.00

$ 22.00

54 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



Mounting Bar

Exc Inc

RH65654 x length e.g.: RHS 65mm x 65mm x 4mm per metre $45.00 $49.50
Duragal — cut and capped

NOTE: Agmaster will only supply RHS to customers collecting from Welshpool Warehouse due to freight issues with

such long parts. All other customers to source locally

CA65 Cap 65mm Square Insert $10.00 $11.00
These plastic knock-in caps enclose the end of the above RHS
(Included in mounting bar price)

Telescopic Extension Arm

These kits are used when there is a requirement to interchange Presswheels and Harrows into the same tele
arm arrangement.

Exc Inc
TPOO04 Telescopic Arm Presswheel Extension & Outrigger, 100 x 100 frame $1400.00 $1540.00
TPOO5 Telescopic Arm Presswheel Extension & Outrigger, 75 x 75 frame $1400.00 $1540.00
TPO08  Telescopic Arm Presswheel Extension & Outrigger, 75 x 75 diamond frame $1400.00 $1540.00

FEL4015 Double Outrigger for existing FE4030 or Harrow Tele Arm (see diagram pg54) $450.00 $495.00

(If using FEL4015 on Harrow Tele Arm also buy HS3050 x 1, PI8L x 2)
Per set HSP3050 $20.00 $22.00

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 55
www.agmaster.com.au



PRESSWHEEL COMPONENTS

Fixed Extensions

FE4020

FE4030

Ref Part No. Description Qty Remarks Exc Inc
1 RH65654 RHS 65 mm x 65 mm x 4 mm AR length to suit S 45.00/mtr $ 49.50/mtr
2 UBN4002 U Bolt — M16, Nuts & Washers 2 $ 20.00 $ 22.00
3 UBNA4003 U Bolt — M16, Nuts & Washers 2 $ 15.00 $ 16.50
4 FE4010 L Frame 1 $160.00 $176.00
or FE4015 Double L Frame 1 refer page 54 for details $310.00 $341.00

FE4020 Clamp plate 1 $ 40.00 $ 44.00
UBN3002 U Bolt — M16, Nuts & Washers 2 $ 20.00 $ 22.00
UBN3004 UBolt - M20, Nuts & Washers 2 for 100 mm Square RHS  $ 25.00 $ 27.50
UBN3005 UBolt — M20, Nuts & Washers 2 for 75mm Square RHS $ 25.00 S 27.50
VBN3006 UBolt — M20, Nuts & Washers 2 for RHS set on diagonal S 25.00 $ 27.50
8 HS3080 Clamp Plate 2 for RHS set on diagonal  $ 18.00 $ 19.80
9 FE4030 Extension 1 $250.00 $275.00
10 CA65 Cap — 65mm Square Insert 2  tocapendsofltem1 $ 10.00 $ 11.00

56  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



PRESSWHEEL MODULE: Original 2002 Model

FABRICATED WITH BUSH TYPE PIVOTS

Note: This is for Presswheels up to 2002. This model has no seal. For 2003 onwards see following pages.

Ref Part No.
PW4270
PW4276

3 SP4011
SP4012

4 NU12MNY

5 PW4580

6 VBN4001

7 PW4255

8 PW4265

9 BNW20M120

10 PW4260

11 PWA4266

12 PW4267

13 BON10M65

14 PWA4275

15 BNW16M90

16 PW4590
PI3MIN
PWU45

Description

Jump Arm 2002

Presswheel Jump Arm Bush 2002/03
Spring 165 x 80

Optional Inner Spring 144 x 60
Nylock Nut —M12

Spring Cap

V Bolt M12 90x100ctr, Nut & Washer
Pivot Mount 2002/03

Track Pivot Spacer 77 x 30 2002/03
Bolt —M20 x 120, Nut, Washer
Track Pivot 2002

Track Pivot Bush 25 x 35 2002/03

T Bolt M12 x 250

Bolt — M10 x 65, Nut

Jump Arm Spacer 42 x 22 2002/03
Bolt — M16 x 90, Nut, Washer
Locking Pin

R Clip — B9 or Min clip

Mount Upgrade PW4255 to PW4450
See diagram page 63

Qty Remarks

PR R R R R R NRRRRRR B R R B @R

Exc Inc

Obsolete

$5.00 $5.50

$20.00 $22.00

$15.00 $16.50

$040 S 0.44

$500 §$5.50

$5.00 $5.50
Obsolete but Upgradeable (PWUA45)

$400 S 4.40

$10.00 $11.00
Obsolete

$5.00 $5.50

$10.00 $11.00
Not stocked by Agmaster

$3.00 $3.30

$ 550 $6.05

$ 400 $ 4.40

$1.20 $1.32
Includes Sleeve/Bolt $60.00 $66.00

www.agmaster.com.au

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 57



PRESSWHEEL MODULE: 2003 Model BUSH TYPE PIVOTS

Note: This is for 2003 Model Presswheels. For 2004 model onwards see next page.

Ref Part No. Description Qty Remarks Exc Inc
1 PW4290 Jump Arm 2003 (takes seal SE36PR518) 1 Includes 1,2 $80.00 $88.00
PW4276 Jump Arm Bush 41 x 27 2002/03 1 $5.00 $5.50
3 SP4011 Spring 165 x 80 1 $20.00 $22.00
SP4012 Optional Inner Spring 144 x 60 1 $15.00 $16.50
4 NU12MNY Nylock Nut — M12 1 $040 S 0.44
5 PWA4580 Spring Cap 1 $500 §$5.50
6 VBN4001 V Bolt M12 90x 100ctr, Nut & Washer 1 $ 5.00 $5.50
7 PWA4255 Pivot Mount 1 Obsolete but upgradeable (PWU45)
8 PW4265 Track Pivot Spacer 77 x 30 2002/03 1 $ 400 S 4.40
9 BNW20M120 Bolt-M20 x 120, Nut, Washer 1 $10.00 $11.00
10 PWwW4280 Track Pivot 2003 1 Includes 2 x Item 11 $70.00 $77.00
Obsolete when stock exhausted
11 PW4266 Track Pivot Bush 25 x 35 2002/03 2 $500 §$5.50
12 PWS57 Clevis Pin, Split Pin 1 $ 200 S 2.20
13 PWA4560 Clevis Yoke 1 $20.00 $22.00
14 NU12MzZP Nut M12 1 $030 $0.33
15 PWA4550 Pressure Rod — M12 1 $8.00 S 8.80
16 PWR4285 Jump Arm Pin 85 x 22 2003 1 Includes Roll Pins $6.00 $6.60
17 PW4590 Locking Pin 1 $ 400 S 4.40
18 PI3MIN R Clip — B9 or Min clip 1 $120 $1.32
PWU45 Mount Upgrade PW4255 to PW4450 1 Includes Sleeve/Bolt $60.00 $66.00
See diagram page 61

58  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



PRESSWHEEL MODULE - CURRENT

Note: This is 2004 - current model. See previous pages for earlier model parts.

2004 ONWARDS WITH BEARING TYPE PIVOTS

Ref Part No. Description Qty Remarks Exc Inc

1 PWwW4420 Current Jump Arm 2005- Onwards 1 Incli,?2,22. $ 90.00 $ 99.00
or w Bearings (doesn’t suit Emu Tracker) Takes seal SE36P6641
PW4405 Jump Arm 2004 Only Model 1 Incll,?2,21. $ 90.00 $ 99.00
with Bearings & Sleeve Takes seal SE36PR6518

BE1228 Bearing (6001-2RS) 5 $ 2.00 $ 2.20
3 SP4011 Spring 165 x 80 1 $ 20.00 $ 22.00
SP4012 Optional Inner Spring 144 x 60 1 $ 15.00 $ 16.50
4 NU12MNY Nylock Nut — M12 3 $ 040 S 0.44
5 PW4580 Spring Cap 1 $ 500 $§ 5.50
6 PW4460 Mount/Arm Washer 3 x 22 2 S 060 $ 0.66
7 VBN4001 V Bolt M12, Nut & Washer 1 $ 5.00 $ 5.50
8 PW4450 Pivot Mount 2004 1 $ 50.00 $ 55.00
9 PW4480 Track Pivot Bearing Spacer 1 $ 3.00 $ 3.30
10 PW4470 Mount/Arm Spacer 15 x 22 2 S 090 $ 0.99
11 BNW12M130 Bolt—M12 x 130, Nut & Washer 1 $ 350 $ 3.85
12 PWwW4500 Track Pivot with Bearings & Spacer 1  Includes 9, 12, 13 $ 70.00 $ 77.00
13 BE1237 Bearing (6301-2RS) 2 $ 3.00 $ 3.30
14 PWS57 Clevis Pin, Split Pin 1 $ 200 $ 2.20
15 PW4560 Clevis Yoke 1 $ 20.00 $ 22.00
16 NUl12MzP Nut M12 1 $ 030 $ 0.33
17 PWA4550 Rod — M12 1 $ 8.00 $ 8.80
18 BNW12M85 Bolt— M12 x 85, Nut & Washer 1 $ 3.00 $ 3.30
19 PW4590 Locking Pin 1 S 400 $ 4.40
20 PI3MIN R Clip — B9 or Min clip 1 $ 1.20 $ 1.32
21 Pwa4415 Seal Wear Sleeve 1 2004 Model only $ 5.00 $§ 5.50
22 GN6 Grease Nipple 6mm Stainless 2 2011 onwards Model only $ 050 $ 0.55
PWS55 Spring kit 1 Includes 3, 4,5, 14, 15, 16,17 $ 55.00 $ 60.50
PW4000 Presswheel Assembly — No Wheel 1 Notincl #7 and all items on P60 $270.00 $297.00

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 59
www.agmaster.com.au



WHEELS, PARTS, RIMS & SEALS

Ref Part No.
1 PW4300
PW4310
PW4320
PW4330

PW4340
PW4370
PW4350
3a PWA4360
PW4380
BE1740
WA16L
BO16M90
BO16M120
8 PWwWA4390
PW4251
9 SC825
10 BONS8MS35F

N o b

11 SE36P6641
or

Description

Tyre — 100mm ‘W’
Tyre—=70 mmYV
Tyre—95 mmYV
Tyre — 50 mm flat

Tyre — 20mm wedge

Spacer Ring

Rim Half — Seal Side with bearing
Rim Half — Cap Side with bearing
Bearing Spacer

Bearing (6203-2RS)

Washer M16 Lock Ribbed

Bolt — M16 x 90 w grease notch
Bolt — M16 x 120 w grease notch
Cap

Cap — Grey

Self tapping Screw

Bolt 8M x 35 Flanged, Nut

Seal P6641 & Ring

SE36PR6518 Seal TC1.437

D W R R R R R NRRRRR R R R B

per rim

1

Remarks

Includes Item 2
Includes Item 2
Includes Item 2
Includes Item 2

Includes Item 2

This half has steel ring in it

Secures Wheel to Arm

Secures Wheel to Arm (w spacer)
From 2003 — Takes 3 x SC825
Knock in type for 2002 model

8 gauge x 25mm countersunk

Current 2005 onwards—use on
PW4420arm

2003/04 model- use on
PW4290/PW4405 arm

Exc
$110.00
$ 90.00
$ 90.00
$ 90.00

$110.00
$ 10.00
$ 40.00
$ 30.00
$ 3.00
4.00
1.00
5.00
5.00
5.00
5.00
0.20
0.80

v numvuvv ;v n

$ 6.00

$ 5.00

Inc
$121.00
$ 99.00
$ 99.00
$ 99.00

$121.00
$ 11.00
$ 44.00
$ 33.00
$ 3.30
4.40
1.10
5.50
5.50
5.50
5.50
0.22
0.88

v nn»vtrvo e ;v ;e n

$ 6.60

$ 5.50

Please note SE36PR5618 is a very uncommon seal, please check with Agmaster before ordering if not sure

12 PW4440

BO16M120

PW4200
PW4210
PW4220
PW4230
PW4240

30 mm Clearance Spacer
-optional
Bolt M16 x 120 w grease notch

100 mm ‘W’ wheel assembly
70 mm V wheel assembly

95 mm V wheel assembly

50 mm flat wheel assembly

20 mm wedge wheel assembly

1

[y

1
1
1
1

1

To increase clearance between
tyre & arm for mud shedding

Required with above spacer
PW4440 in place of BO16M90

Above Assembly Minus 6, 7, 8,9
Above Assembly Minus 6, 7, 8,9
Above Assembly Minus 6, 7, 8,9
Above Assembly Minus 6, 7, 8,9
Above Assembly Minus 6, 7, 8,9

$ 20.00

$ 5.00

$190.00
$170.00
$170.00
$170.00
$190.00

$ 22.00

$ 5.50

$209.00
$187.00
$187.00
$187.00
$209.00

60  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



FASTENERS

NN ]
AN N
\\\\(?
///// )
&
Pin & R Clip T Pin & Split Pin
Fit Adjusta-Point on NT19 Series and Multi-Boot Module on Fit series NTO7, NT09, NT11 points
Morris Quantum, Contour 2 & Bourgault Paralink & Sweep Adaptors
PINS Exc Inc
PIR41 12mm Pin 41mm Square & R Clip for Adjusta-Point 2021 $ 2.00 $ 2.20
PIR45 12mm Pin 45mm & R Clip for Adjusta-Point 2018-2020 $ 2.00 $ 2.20
PI12A41 Pin 12mm x 41mm Square 2021 $ 1.90 $ 2.09
PI12A45 Pin 12mm x 45mm 2018-2020 $ 1.90 $ 2.09
PI432R R-Clip 43 x 2.5 for PI124XA $ 0.20 $ 0.22
TSP ‘T’ Pin 10mm + Pin Split 4 x 25mm $ 1.50 $ 1.65
TP1180 Pin ‘T’ Diameter 10mm $ 1.40 $ 1.54
P1425S Pin Split 4 x 25mm $ 0.20 $ 0.22
BOLTS
BO6M10S Bolt M6 x 10 — Pipe Adaptors and some stainless liquid casings $ 0.50 $ 0.55
BO16M90 Bolt M16 x 90 Z/P - Presswheel S 5.00 $ 5.50
BO16M120 Bolt M16 x 120 Z/P - Presswheel S 5.00 $ 5.50
Other Bolts not shown are listed under “Bolt and Nut” sets or “Bolt, Nut and Washer” sets
WASHERS
WA16L Washer M16 Lock Ribbed Zinc - Presswheel $ 1.00 $ 1.10

Other Washers not shown are listed under “Bolts, Nut and Washer” sets

BOLTS & NUTS (SETS)

BON6M16S  Bolt M6 x 16 Stainless, Nut — Liquid Kits S 0.60 $ 0.66
BON8SM35F  Bolt M8 x 35 Flanged, Nut — Stars, Harrows $ 0.80 $ 0.88
Other Bolts & Nuts not shown are listed under “Bolt, Nut and Washer” sets

BOLTS, NUT & WASHERS (SETS)

BNW12112 Bolt %" UNF x 1%4”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW12134  Bolt %2” UNF x 1%”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW122 Bolt %” UNF x 2”, Conelock Nut & 2 x Washers S 3.00 $ 3.30
BNW12212 Bolt %5” UNF x 2%”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW12214  Bolt % UNF x 2%”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW12234  Bolt %” UNF x 2%” Conelock Nut & Washer $ 3.00 $ 3.30
BNW123 Bolt %2 UNF x 3”, Conelock Nut & Washer S 3.00 $ 3.30
BNW12312 Bolt %5” UNF x 3%”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW?7162 Bolt 7/16 x 2”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW716212 Bolt 7/16 UNF x 2%”, Conelock Nut & Washer $ 3.00 $ 3.30
BNW?716234 Bolt 7/16 UNF x 2%”, Conelock Nut & Washer $ 3.00 S 3.30
BNW12M40 Bolt M12 x 40, Nut & Washer S 2.00 $ 2.20
BNW12M55 Bolt M12 x 55, Nut & Washer $ 2.00 $ 2.20
BNW12M85 Bolt M12 x 85 Z/P, Nut & Washer $ 3.00 $ 3.30
BNW12M130 Bolt M12 x 130, Nut & Washer $ 3.50 $ 3.85
BNW16M40 Bolt M16 x 40, Nut & Spring Washer $ 4.00 S 4.40
BNW16M55 Bolt M16 x 55, Conelock Nut & Washer S 4.00 S 4.40
BNW20M60 Bolt M20 x 60, Nut, Spring Washer & Flat Washer $ 6.00 $ 6.60
BNW20M120 Bolt M20 x 120, Nut & Spring Washer $10.00 $11.00
BNW20M150 Bolt M20 x 150, Nut & Spring Washer $12.00 $13.20
BNW20M170 Bolt M20 x 170, Nut & Spring Washer $15.00 $16.50

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 61
www.agmaster.com.au



U - BOLTS & V - BOLTS

VBN4001 UBN1003 — UBN2002 UBN2007
VBN3006 UBN3001 — UBN4003*

U BOLTS, NUTS & WASHERS (SETS)

UBN1003
UBN1004
UBN2001
UBN2002
UBN2003
UBN2004
UBN5611
UBN5612
UBN5613
UBN2007
UBN3001
UBN3002
UBN3003
UBN3004

UBN3005

UBN4002

UBN4003

VBN3006

VBN4001

U Bolt M10,75 x 52, Nylock Nuts - Trashguards

U Bolt M10, 110 x 30, Nylock Nuts - Trashguards

U Bolt M12, 65 x 52, Nylock Nuts & Washers — NT11 Brackets

U Bolt M12, 85 x 30, Nylock Nuts & Washers — NT11 Brackets

U Bolt M12, 110 x 25, Nylock Nuts — NTO8 Boot Brackets

U Bolt M12, 90 x 25, Nylock Nuts — NTO8 Boot Brackets

U-Bolt M12, 80 x 52, Nylock Nuts — Adjusta-Point w Multi Boot & NT19
U-Bolt M12, 90 x 52, Nylock Nuts — Adjusta-Point w NT11 Seeker Boot
U-Bolt M12, 80 x 52 Bent, Nylock Nuts — Adjusta-Point w NT11 Boots
U Bolt M10, 77 x 55, Nylock Nuts & Washers — Flexi Boot

U Bolt M20, 290 x 105, Nylock Nuts & Washers - Harrows

U Bolt M16, 130 x 102, Nuts & Washers — Harrows/Presswheels

U Bolt M16, 80 x 52, Nuts & Washers - Harrows

U Bolt M20 135 x 102, Nuts & Washers — Harrows/Presswheels

(for 100mm x 100mm)

U Bolt M20 110 x 77, Nuts & Washers — Harrows/Presswheels

(for 75mm x 75mm)

U Bolt M16, 166 x 67, Nuts & Washers - Presswheels

U Bolt M16, 105 x 77, Nuts & Washers - Presswheels

U Bolt M20 150 x 122, Nuts & Washers — Harrows/Presswheels

(for 75mm x 75mm diamond)

V Bolt M12, 90 x 100 ctr, Nuts & Washers - Presswheels

U BOLT BACKING PLATES

UB2005

M12 x 25mm U-Bolt Backing Plate

(Used with UB2003, UB2004 without Boot Assembly)

UB5620

M12 x 52 U-Bolt Backing Plate

(Used with UB5612 on Adjusta-Point Holder w without Boot Assembly or NT11 Seeker Boot)

TG1173
TG1175

M10 x 30 U Bolt Backing Plate — used with UB1004
M10 x 52 U Bolt Backing Plate — used with UB1003

UBN2003 - UBN2004
Dimensioned

Exc

$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$ 5.00
$35.00
$20.00
$15.00
$25.00

$25.00
$20.00
$15.00

$25.00

$ 5.00

$ 4.00

$ 4.00

$ 5.00
$ 5.00

Inc

$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$ 5.50
$38.50
$22.00
$16.50
$27.50

$27.50
$22.00
$16.50

$27.50

$ 5.50

$ 4.40

$ 4.40

$ 5.50
$ 5.50

62 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



UPGRADES

Exc Inc

PWU45 Presswheel Mount Upgrade Pre 2004 $60.00 $66.00
Includes yoke style cast mounting, 2 adaptor Bushes and pivot bolt

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 63
www.agmaster.com.au



MAINTENANCE TIPS

HARROWS

If tips are showing more wear on one end of the gang loosen the three bolts at the turntable, re-level to suit and re-
tighten.

Grease axle bearings weekly — do not over grease as seals may pop.

PRESSWHEELS

Pre Season:

- Any pivots and swivels that don’t move freely need to be freed up and lubricated or replaced.

- Any bearings or seals that sound noisy or gritty when the wheel turns should be replaced or repacked with grease
- Any damaged seals must be replaced

- If fitting a new seal a smear of grease in the fins of the seal will help its performance.

- When replacing or re-screwing black hub cap, a smear of grease against the contact surface will assist in sealing

Post Season:

- If unable to store seeder bar undercover, remove gangs of presswheels at the two UBolts securing mounting bar
to outriggers. Storing the presswheels under cover will extend tyre, seal and bearing life

2002-2003 MODEL UPGRADES:

Side swivel upgrades (PWUA45) are available if swivel is stiff

2004 MODEL UPGRADES:

Pressure rod clevis pins using split pin instead of circlips (PW4570 and PI425S)

POINTS & CLOSER PLATES

Point Wear:

Points that are scalloping excessively above top piece of tungsten carbide or behind bottom tungsten carbide tip may
cause end of point to break off before tip has reach it’s useful life. Hardface weld can be applied in these regions to
extend point life.

Weld on Knives (PT1930 & PT1940):
When rebuilding a point cut the excess off the old point and leave a 3mm gap for penetration to weld knife. MIG
weld or general purpose ARC welding rods can be used. Excess weld can be left as this area works out of the ground.

It is not recommended to repair cast points without preheat/post heat
Closers:

Closers should be replaced once either corner has worn to more than 10mm radius. Closers cannot be rebuilt.
If welding closers to cast boots use Stainless electrode grade 309.

64  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



TIGHTENING TORQUE VALUES

WRENCHING SYSTEM

Not all tensioning devices give the same tension, typical performance of wrenching systems is:

WRENCH TYPE TORQUE ACCURACY
Impact wrench stall type +/- 50%

Impact wrench with torque bar +/-20%

Hand torque wrench +/- 2% to +/-25%
Air motor stall type +/- 10% to +/-20%

It is therefore important that wrenches are calibrated on a regular basis.

Do not use the following values if a different torque is called up for a specific application. The values shown are
for clean, lightly oiled, galvanised and zinc plated carbon steel fasteners. Always replace fasteners with the same

property class. Torque is based on 65% of proof load.

METRIC COARSE PITCH

SIZE CLASS 8.8 CLASS 10.9 CLASS 12.9
Nm Nm Nm
M6 9.0 13.0 15.0
M8 22.0 32.0 37.0
M10 44.0 63.0 73.0
M12 77.0 109.0 128.0
M16 190.0 270.0 316.0
M20 372.0 528.0 620.0
M24 640.0 914.0 1066.0 e’

SPECIFIC AGMASTER PARTS:

UB3002 150 Nm (approx 75% of recommended torque)
IMPERIAL
SIZE SAE GRADE 5 SAE GRADE 8
INCHES UNC UNF UNC UNF
Ft.lbs Ft.lbs Ft.lbs Ft.lbs I
1/4 7.0 8.0 10.0 12.0 P
5/16 15.0 17.0 21.0 23.0
3/8 27.0 30.0 38.0 43.0 ’
7/16 43.0 48.0 61.0 67.0
1/2 66.0 74.0 92.0 104.0
9/16 94.0 105.0 133.0 149.0
5/8 130.0 148.0 183.0 208.0
3/4 231.0 258.0 326.0 364.0
7/8 373.0 410.0 525.0 579.0
1 558.0 610.0 787.0 826.0

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 65
www.agmaster.com.au



ne‘wooussewgemmn @I | INIMVHVd L1NVO¥NOE ® 2O "YILSYINOY WOUS ALIMOHLNY NILLIIM LNOHIIM
SEETECEE80 1 ot ionNotoniutva WNLNVND SINYON 0€02IV Q3LLIWEId LON Sl §IAILYHM WO ANY NI STILYVd Q¥IHL

OL3NSSI O NOILONAOYdIY QIASISTY ATLOIALS SIHOE 1TV
cooTaceeso 1 SALSWINDY| 10} 3INAOW LOOE ILTNN

caTarIonalsam % SNOILDNYLSNI ASSY ON OMQ VILNIAIINOD ANV A¥V1318d0odd
‘Aepy o81eq OT b ONIXYOM S4Y8 Y314V S11049 11V NOISNIL-3Y

wwsy 438010 ATNAOW|  0¥2910 9l WV 1IVLEA
wwg/ ONIM ¥3¥33S 3TINAOI| 02.29MS
wwgg ONIM ¥3I¥I3S ITNAOI| 08Z9MS
wwse ONIM ¥IMIIS ITNAOIN|  0629MS
NId LITdS ¥O dITO-d|  XXXXId
MO3AN HVNOS wwzl ‘Nid| Lvvelld
1NN YO0T13INOD ‘YIHSYM ‘884D .2 X .2/l ‘1109| ZZLMNAE
1NN YO013INOD “HIHSVM ‘8'8HD J¥/€ | X .2/l ‘L704| ¥ELZLMNE
X3H wwgl X 9N ‘1704d| S9LIN9OE
X3H wwol X 9N ‘110d| S0LN904d
10049 ¥3sIniLy3d| oiesad
20 SIMYON ¥Oldvay 931 0819V
LAN Y¥O0T1INOD YIHSYM ‘X3H 601D WWSG X 9LIN ‘17049| GSIN9LMNE
11NY9YN09 YO1dvay 931 06191
(@33S HLIM dINDIT Y04 T¥YNOILO)
(0509.1d HLIM @311ddNS) 39N1 ONISYD AINOIT| 025541
¥01dvav 1009 31NAOCW| 00Z9vd
1INIOd dINDIT|  0599.1d
LNIOd QYVANVLS| 0¥991d
NOILdI¥OS3a ‘ON 1yVvd

"JE3aM BAISSIIXD JudARId
djay 01 pjam ae)-pJey dwos yum 00z9vg 4noA
uleluleW 01 PI3U [[IM NOA 49da3p 3iom 01 Juem
0p NOA §| *|9A8| punoJ3d mojaq }40M 01 pausisap

uaaq j0u sey Jordepy 1009 00Z9Ve YL
*31ON LNV.LYOd NI

Gl
142
€l
¢l
b
ol

"y1dap paas pasinbal 03 |paymssaud isnlpy *QT

(TT'2°9) syoq |le uayslL g

*(pa1ddns 10u) 3j0q/Mma10s 381 Jo (paljddns
10u) dwiepd 350y B YyUM paIndas aq ued 100q 03Ul 3soy AInjaq g

*(0T) Alqwiasse 1j0g yum 21ndas "du0z pass
9y1 01 y3nouyi saqni 3|qIxa|} Y3 uipasy (¢) Jo1depe 100q ay1 01 (T) Suim
19995 91 1} UBYl wwGz AjP1ewixosdde so1depe 1004 JO W0110q Y1 INO
apnuioud 01 () Suised ayl y8noayl agni s|qIxal4 Pas} ‘pass yum pinbi| Suisn y|
‘uid jjo4 Sututelas ay3 1sed uiod yoe|q 3y

01l () Suised ysnoayi agni 3|qixal4 pady ‘yutod puiyaq Jasi|iay pinbiy Suisn y| 7

wlo|r~]|

‘aduiydew ayl yum paliddns 3o0qg-n Sunsixa
JnoA Joy s1 910y 1j0q pJ1yl 3Y3 yuijeded }nesinog e aAey noA j| :930u ased|d

*(£) Alquiasse 3j0q Suisn s|npow 01 (g8) J01depe 33| Junow g SIUOA J04

o R R K R B R R B R B R R B R B R B
(o2}

—|N|[®| T

/@Gv Alquiasse 3joq 3uisn ajnpow 01 () Joidepe 33| Junow yuijeled ynesinog 104

>
-

O| 434

‘(£ 10 9) Alquiasse 3joq Buisn (8 J0 §) JuNOwW 3|Npow 03 1Y 3ulP3S JUNON *Q

*(1T) 3109 Buisn (g) Jordepe 100q
1004 Ul () (s)3uised a1ndas ‘(paas yum Jo 1uiod puiyaq Jayua) pinbi Suisn y| *g

*Ud1Se} 01 SINU ASN-3Y "dulydew
4noA uo gny Sunsixa 03uo Aj3d31IP SHY |23YM YIHNDVHL NNT YL g
'S[]0J 3 UBYM 133}
Aq dnid Suiaq auim1/8ulils 9InNPaJ 01 UOIIDBIIP 1031402 dY1
ur pauolysod st [93YM YINDVHL NIAIF dY3 21ns ew ‘Suinily 310499 *T

*(£) Alquiasse 1j0q
3uisn (g) J01depe 3009 01} 34NI3s ‘(6) 3004 J3s|11dy Aip jeuondo Suisn §| '

‘Ajuessem QIO Aew pue adojanua

Supjiom siaanjoenuew aurydew aya apisino din yuiod aya and [Im mau

aae sputod uaym Suimas uonyisod 31samoj ayr Sundsjes ‘Aeme uiom sey yidap

juiod Jo wwQg 1sed| 1k 13un uoisod 1saMmoj ul Juiod 313s 30U 0Q :ONINYYM

*.V . 1IV.13Q@ uo paunioid se an0048 ay1 apisul

pauoiusod si dijo-y 24nsud 01 , 06 23L10J UdY3 Uld WWIZT JO PUd dY3 JaA0 di|d-Y
ysnd ‘asi14 *(€1°2T) Alqwiasse uid Suisn (g) Joxdepe 3009 ul (z 40 T) 3uiod 34N23S *€

(2)

Alqwiasse 1joq Suisn (g) Jo1depe 3004 01 (ST 40 $T) 19S0|2/SUIM J2)33S 24NI3S
£ da3s Jayye |13un dais siyi a1oud paas yum pinbij duisn 4 *g

‘suononysul
Buimojjoy a8y} asn aseald ‘sjpaym YIMOVHL NN Buisn aie noA §

AIMOVHL NING

*19381q s1 *q° 0 950y J1 Aiessadau 94 |im uondepy
Q'O WwWIZE S11dadde |[IM 1000 32IS 3SOY WNWIXE|A 1004 01Ul S} 850y AJdAIlap a4nsul *T

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au

66




ne‘woous)sewsemmy  @RICLEIEIO
SBRTEGEGR0 1] o iiCreiomatvs
GGGT8GEGS0 1L NH.HQMEEGQ

MNVHS -0

10049 ILTNN

SNOILONALSNI ASSY

“HILSVINOV WO ALJOHLNY NILLIIM LNOHLIM
Q3LLIWA3d LON SI 33AILYHM WOJIS ANV NI S3ILdVd Qdl

ov0<2IV

‘ON OMd

90T9 VM |oodusiam
‘fep 081e4 OT

N

1NN DOTAN ‘Wwg9 X 8N ‘1109 GON8NOg L |81
1NN DOTAN ‘Wwgy X 8N 1709 SYINSNOG A
QYVNO HSVYH L 064691 L |91
wwge ONIM ¥3XM33S| 06CSMS 3
wwgg ONIM d3M33S| 082SMS b
wwg/Z ONIM d3M33S| 0L2SMS 1
wwgy ¥43S019) 0¥2S10 R4
¥01dvav LoOg| ocisva/oLisvda | L | €1
X3H wwol X 9N ‘1709 SO0LN9O4 ¢ |cl
LNAN MOOTINOD “YIHSYM ‘.2 X.2/L ‘1709 ¢CIMNg v
1004 43SI711d34 Add orLegad L {0l
3dNL ONISYO 39NL ¥3SINILY34 aIiNOIT| 0€5547/02¥S471 | L | 6
39NL ONISYO 33S HLIM AIiNOI 026641 ¢ |8
1NN OOTAN “YIHSVM ‘¥9%08 ZLIN ‘L708-N L19GNaN b L
1NN MDOOTINOD “HIHSVYM “.€ MO V€T X.uZ/L ‘1708  XXTZTLMNE ]
NIid LI1dS 40 dIT0 - o XXXXId L] S
d3d7T0H LNIOd 019G TH 4
MO3AN IYYNOS wwel ‘Nid Lyvelld L | €
1NIOd dINOIT 31avLsSnrayv| 0,951d/069G1d | L | ¢
1INIOd d1S 3719VLSNrayv| 09961d/0v9s1ld | L | |
NOILdIYOS3a ‘ON L¥vd ALD|43Y

TVILNEAIINOD ANV AHVL131ddOdd

HL

O1 3ANSSI 4O NOILONAO YIS AIAAISTS ATLDIILS SIHOIA 11V

WV 1IVL3A

ONIXNYOM S4Y8 Y314V S1709 11V NOISNIL

*(8T)us1ysiuano J0u oq
‘psendyseJl jo dol 1e suhl puiyaq (8T) 309 114 (1) 48p|oy pue
‘(9T) p4en3 y3nouya (£L1) 309 34 ‘spaendyseuy jeuonndo Sunuy | *

*s3j0q Suturewsau e uaaysiy

*(pa1jddns 10u) 1j00q/ma.2s a1 Jo (paddns Jou)

e 100Q 03 24n23$ (0T)

e 32eq ay3 oul (6) Suised y3noayl saqni 4asi|134a4 pinbi| xaj4 Aue pas4
° *(11) Alquiasse 3joq Suisn (£T) Joidepe 1004 01 (ST'YT)
1950]2/3uIM 84NJ8S "8U0Z Pads 01 $1911N0 Yy3noayy seqni pinbi| aqixaly
° Aue 3uipaay (£T) 101depe 100q 01 (ST‘PT) J9SOD/SSUIM 19)33S 114

/1
/@m/, ‘wwsz Ajarewrxoidde apnijoud
@/ 01 saqn) Suised ydnouya saqni paas ayl yum pinbi| a|qixaly Aue pasy

9, @

£ *wV. 11v13a uo paniid se 9A0048 ay3 apisul pauoiisod si dipp-y

2JNSUd 01 , 06 9110 UBY3 UId WWIZT JO pud 3yl JaAo dijd-y ysnd ‘1sii4
"0T da15 |nun (§) dipp Y pue (€) utd yum Japjoy out (T) uiod aindas

(1T) Alquiasse 1j0q yum (¢T1) Jo1depe
0T€584 1004 Jasija) Alp Jeuondo Suisn |

‘yadap pauisap 01 1uiod Jo

'9 da1S 4aY4e |13UN NILHOIL LON Od LNE HOg 9N YHM Ajas00] 34
‘(1) 4Jo1depe 100q 01l (8) 0ZSS4T 20n1 Suised api|s ‘paas yum pinbi| Suisn §|
*$3|0q J2Y30 ||e Aq pamo||0} ‘15414 3j0qg-n ua1ySil pue auAy 01 sued e udiy

‘N3LHDIL LON Od (€T)
J01depe 100q pue 3uA} ‘ Japjoy julod 31ndas 01 (£) Ajqwiasse 3oq N asn

‘3uiinoy Aue Juanaud 01 ua1e| adeys suAl 0y
pamInd aq ued aqna iyl (1) 0TTSVE Joidepe 100q JO JUOJ) 18 SIA00IS Ojul
(6) 027541 Suised Aej ‘uiod o 3oeq ay3 01 4asi|iiay pinbi| Suisn 4| "NILHOIL

1ON 04 ‘(9) Alqwasse 3j0q auAl Buisn auAy 01 (1) 4op|oy 1uiod 3jog

*19881q s1 'Q"0 9soy JI Asessadau a4 ||1m uondepy ‘Q'O WWISE
s1 1da22e ||IM 100q 971S 9SOY WNWIXE A 1000 03Ul SH) 950y AJdAljap aunsul

-3

It

0T

dweyd 8soy e yum paJndass aq Ued 100q olul 8soy AJeAiRd *g

‘8

N

©

")

()

N

i

67

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



ne‘wooualsewse Mmm

1111 ON 0081 (J]

1111-ON.NOLIONINUVH

888T1839£680 4
SGGT89€E680 -L
90T9 VM loodysiap
‘Aep\ o81e4 OT

HILSYIWDY

%

S1009 ANV SLINIOd 6TLN
SNOILONYLSNI ASSY

090¢IV

‘ON OMd

DOTAN 9N 1NN ANIWONN T [ ve
Wwoz X 9W 170d] __ 0ZIN9Od [ te
wwg - JNV10 d S90d | ez
OM dNVTO d] 065241 Y
Wwo} 9O WWg-3gnl|  08/0/6241 I [ oz
J1ONIS - 3LV1d JAVIO|_ 08/015ed1
319N00 - 3LV1d dJNVTO] 026241 I [ 61
INIWHOVLLV QinOI1
LNN DOTAN ‘WWG9 X N '1709] GOWSNOg | Z | 8i
LINN DOTAN ‘WWGH X gN 1108|  SHINSNOE V| 21
QuvNO HSVYl] 05691 PRIED
INN.Z/L LNN|  10ZINN Z | st
IVOINOD ZVIN '9IHSYM|  OIWNZIVM v | vl
INN.2 X2/l 1109] zz1od Z | <1
NOILYOITddY LINS OL - LOOd|  XX6zld R
INAL LINS OL'L3M0Ovad]  01854g L1
DOTAN ZLW INN| ANWZINN | 2 | 0F
ZLN "J3HSYM TVOINOD|  OWZIVM Z | 6
ZLW1708-n|  119san L | 8
ZLN "JIHSYM TVOINOD|  OWZLVM V| 2
ANN.Z/L INN|  10ZINN L | 9
ANN.2/L 2 X2/ 170d]  e2leziod
JINN.£X,2/L 1108]  €zrod 1 | s
¥30710H INIOd]  019STH V| v
diInoY|  dzevld L | €
MOIN IYVNOS Wwzl ‘Nid]  bpvehid K
INIOd dINDIT 318V1SNrav|0/951d/05951d]| |
INIOd LS 318V1SNrav|0995Ld/0v9sid| + | I
NOILdI¥0S3a 'ON 1dvd  |ALO|43d

10049 ANV LNIOd

‘

“HILSVINOV WO ALJOHLNY NILL-IM INOHLIM
Q3LLUWI3 LON Sl dIAILVHM WO ANV NI S3I1dVd QdIHL
O13NSSI IO NOILONAOAdIA AIAYISIA ATLOIALS SIHOIY TV

TVILNIAIINOD ANV AdVL1dlddOdd

-Juiod pinbi| 8y} J0 oeq 8y} ojul senunuod adid Aisaldp 9|qixa)} 8y L
(02) @1e|d dwejd ay} Jo BWOROQ 8y} 0} 8SOID YSiul p|NOYS pue
(peiiddns jou) adid Aianijop 9|qixay) Jojjews Jo Buised e si (},z) @qn} SsoulelS 131 0N
"a|yoJd 19308Iq JINS 0} PaAIND 8q UeD pue (1 |) }axoelq
100q j0 aje|d |eonuan [esuad ay) jsuiebe asojo dn iy pjnoys agn] “Jnu pue Jaysem
(¥2) 4109 0Z X 9N Ynm Bn| 0} dwed d 21ndas uay} (1.2) 8qn} 8Yy Jano (gz) dwep d i ¢
“(11) 1930e1q
J00q anoqe ajoy Buunow dwelo 4 ypm B3] )j0q N 03 (zz) Bn| dweo 4 aindag 'z
Jloq Jebuo ,g/| Buisn sul) pue (| 1) Jexoelq
100q JO 9|0y JOMO| 0} In23s pue (1) aqn} ul puaq S Jano (0z) aield dwed aseld |

ININHOVLLY dINDIT

W 1IV1L3d

ONIMHOM SIU8 ¥314V S17049 11V NOISNIL-3d

'(81) uspybuano Jou oQg
‘parenbyseuy jo doy e suky puiyaq (g1) 31oq 14 “(v) 1opjoy pue
‘(91) psenb ybnouyy (1) 1oq 4 ‘sprenbysed jeuondo Bumy 4 L
‘(panddns jou) mauos ¥a|
Jo dweo asoy ypm (z1) jJ0oq o0} asoy AIaniap aindas "9
“WVa lvVLi3a
uo painjoid se anooub sy} apisul pauoisod si dijo-¥ 8Insud 0} , 06
9Jejol uay} uid wwg| Jo pud ay} Jano dio-y ysnd ‘sai4 *(g) dio 4 ypum
2Indas pue juiod ybnouys () uid yoou asenbs Jy ‘Japjoy ojul (1) ulod 14 G
"L pue g ‘G way Buisn suky o} (| |) yexoeIq pue (¢) Jopjoy juiod Aj9s00T “f
"(11) 19%0eIq pUE () Jopjoy BuLNdas (9) sinu usybl L
"NILHOIL YIAO LON OQ - 81ndss 0} 0} pue g wa) Buisn (g) §oq N ¥4 ‘¢
‘Jybiay sjqeyns
e Bujuiwislep Jaye ‘G| pue ¢| ‘g way Buisn (| }) }ox0e1q 0} (21) 00q o9 "2
"asoy AIanljap a1ndas pue 300q ojul agn} Ajlod O 8¢ a1ndas asoy ] 8¢ Jo4
‘Aessaoau uondepe ou - }00q ojul Aoaua1p 1 (1M QO 8€ - Z€ asoy Aaaiieq
"(z1) 1009 0} uondepe asoy Aianlsp aYen “|

1004 ANV LNIOd

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

68

www.agmaster.com.au



ne‘wooaisewse mmm

[ 1111 ON o031 ]

1111-ON.NOLONIHUVH

888T185€680 4
GGGT8SE6S80 -L
90T9 VM loodys|am
‘Aepy os1ed OT

H3LSYINDY

1NIOd ANV 1004 IX314
SNOLLONALSNI ASSY

0L0<IV

‘ON OMd

>

1NN DOTAN 'WWG9 X QN "110d|  S9NSNOH I |11¢
1NN DOTAN 'Wwgy X QN 110d|  S¥INSNOS I [ 02
dvNO HSYYL 064691 | |61
OOTAN OLIN "LNN NINOLNN ¥ |8l
dINV1O 028ca4d L 141
0L " 1708-Nn £0024dn ¢ |19l
31davs| 018zd4 |1
¥3SOTO Wuws - 1004 IX314 058cd4d
¥3SOT0 Wuwy - 1004 IX314 0v8cd4d | 4]
INAL NO 3903 - 13XOVd 06294

INAL NO 1V71d - 1310vdg 0l6cad I 1€l
H3d710H ISOH d3SI111y3d 086244 l 12l
4NN .2/L "LNN 102NN vy |1l
TVOINOD ZLIN "HIHSVYMW ONZIVYM ¥ |0l
ZLN'1709-N 1002dNn l 6
ZLN'1709-N 11969N l 8
4NN .2/L "LNN 10ZINN l L
TVOINOD ZLIN "HFHSVMW ONZIVYM l 9
WJP/L 2XANN .2/ 1104 ¥1¢clod l S
d3dTOH LNIOd 019STH l 14
dino ™ dceyid l €
MO3IN IHVYNOS wuwizl ‘Nid lyvelld l 4

LNIOd dINOI1 379v.LSNrav| 0£951d/0695.1d

1NIOd d1s 319V.LSNrav| 0995.1d/0¥95.1d

NOILdIYO3a ‘ON 1dvd

1008 3AISNI ONIJddS

ONIMHOM s1Y8 4314V S11709 11V NOISN3L-3d

ON1 ONIFINO3S
JSOH H3SITILd3d

“HILSVINOV WOJIS ALIOHLINY NALLIIM INOHLIM
Q3LLWA3d LON Sl dFAILVHM WO ANV NI STILdVd ddIHL
O1 3NSSI IO NOILONAOIdIA dIAIFSIY ATLONLS SIHOIE TV

TVILNIAIINOD ANV AdV1IIddOdd

WV 1IV13a

ONILOOHS J1ONIS
41 d34IND3Y LON

".V. 1IvL13qa uo painjoid se anooib ay}
apisul pauoiisod si dijo-y aJnsus 0} , 06 d}e}oJ usy} uld wwz| J0 pud sy} Jano dip-y ysnd ‘Isii4

‘uiejal 0} (g) dijo 1 yum ainoas pue juiod ybnouyl (z) uid yoau atenbs 1y ‘1apjoy 01 (1) Juiod 14 "9
‘llews o0} Jo abue| 00} S| 8s0Y pass 4 8da1d uopisued) e se papasu aghew adid Ajod QO

wuwgg 100q apisul buuds jo doj o} ybnouy} paysnd aq ued pue }00q dpIsul }i} [|IM 8SOY pods ISON  °G
‘yasu| ajeld Jasold ay} jo doy uo
Bunsail si (g1) 100q 8y} apisul buuds sy} ains aye\ "yidop pass usnd anIb 0} Jomo| WwG| 0} 0]
$}00q JO moJ Jeal Buies Japisuod sjeaymssald Buisn usypp (Spuy ueyl Joybiy wwg Ajjewsou)

‘Jybray s|qeyns e Buiuiwislop Jaye L| pue gl ‘Gl ‘v| sway Buisn (z1) }oxoeiq 0} (€1) 009 4 ¢
‘(paijddns jou) dwejd asoy yum Bnj (Z|) wal 0} 81n2aS ‘S}|0q }oxorIg Udam}aq SI pua [pun

(z1 pue |}) s}ayoelq ybnouyy Jy pue (Jaybiy Jeas) ssaibap G Je asoy Jas|ia) S} Jo pud ayying ¢
*Z1 pue || usamiaq deb e aq Aew a1ay} SauUA} ,uo abpa, YUAA (L L) Jap|oy Jsuiebe sjsal

(z1) 1908Iq 8} BUA} JEY UQ "0 PUE 6 ‘@ SWa)l Buisn (| |) way aroge auk} o} (Z1) 1xoeIq )4 2

'L pue 9 ‘G swayl buisn auk} o} (1 1) Joploy asoy Jasl|iug) pue () Jepjoy i Ajgsoo |

69

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



ne-wooialsewse mmm

1111 ON 0081 (J]

1111-ON.NOLONIHUVH

888T8GE680 4

GGGT8GE680 L mu.ﬂwmm:un

N4

90T9 VM loodysiam
‘Kepn 081e4 OT

6TLN ddVNO HSVYL
SNOLLONYLSNI ASSY

0S0<IV

:ON OMd

MOOTAN 8 "LNN

ANWSNN

Y9O8'8 ‘WWG9 X g "L109

S9N8Od

Y9O8'8 ‘WG X gIN L1709

SvIN8Od

N| <

SANAL 3dIM WW8ZHOS

0592591

SANAL IdIM WWog HO4

0€4591

NOILdI¥Os3ad

ON 1dvd

434

ONIMHOM sIyg 4314V S11709 T1V NOISN3IL3d

"H3ILSVINOVY WO ALOHINY NALLAIM INOHLIM
Q311LWJ3d L1ON Sl d3AILYHM WOI4 ANV NI S3ILdVd ddIHL
OL 3NSSI 4O NOILONAOAdIS AIAIISTY ATLIINLS SIHOIN TV

TVILN3AIINOD ANV AHVLIIddOdd

‘(g) wayl 10} soj0y Jaso|o asodxa

0} Bn| psenBysely puaq 0} auky} Jsuiebe padde} aq ueo pienbysel; jo do] ‘g
() Inu ypm
ainoas pue pienbysely jo sajoy Jaddn ayy ybnouys (g) 3jog 314 I3sau Japjoy
2y} 0} pajeoo) Aj30a.109 s| abpa Jamo)| ay} ains Buiew auky o} (1) pienb

1} INU ypm a1noss pue () psenbysedy Jo sjoy wonoq ybnoius (z) oq 4 L

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

70

www.agmaster.com.au



NE WO INSeWTE MMM

i
Lo

TS -G G LSRR

888185£680 4

GGG1IBSEEBO -L ﬁﬂ.ﬂwﬂ%

9019 ¥M [codysam
‘Aep odieq OT

$10049 8 SLNIOd LLIN
SNOILONYLSNI ASSY

YILSYNIY 0SS ALIJOHLNY NALLISM LNOHLIM
O3LLINY3d LON SI YIAJLVHM WOdd ANV NI SHILdYd QYHL
0L 3NSSI 40 NOILONAOYd3d d3A43S3Y ATLOMLS SLHOW T1¥

VIINAIANDD NV A9 13184044

0cOLIV

‘ON OMd

NOI1dI¥0s3d 2081 oNLluvd |ALD [43Y
ANAL 1INS OL - INIOd Xxbild| L | 1
3NAL 1INS OL - ¥3ATCH XXLLH| L | 2
Nid 1I1dS 8 Nid 1 dsi| L | ¢
WPIE X ANN L9L/L 1708 veeglLod| z | g
ZILZXANN .2/ 1709 Zizzlod | z | §
L€ X ANNLZ/L 1108 cziod| z | S
ANNLGLL LNN 109LNN| 2 | 9
ANN.Z/L LNN 102NN z | 9
.91/2 ¥AHSVM 114 d91vm| z | L
ZLA HIHSYM TYOINOD oWewwM | 2 | 2L
SINAL IAIM 05 ¥O4 1108 N loozan| 1 | 8
SANAL AAIM 82 OL N ¥O4 1704 N zoozan| L | 8
ZLA LN OOTAN ANWZINN| 2 | 6
ZLN HIHSYM TYOINOD oWZIvM | z | ol
3NAL LINS OL - 1TXOVHd oxozdd | 1 | bl
NOILYOI1ddY 1INS OL - L1004 xxezld| L | 2zt
ZX4Nn.z/L 1709 zziog| z | €l
ZLN ¥IHSYM TYOINOD oWZIYM | v | vl
ANNLZ/L LNN 10zZINN| Z | gt
1 NANoI
FIONIS - ALY 1d dAVTO oeplez| L | oz
319N0A - ALV1d dAV1O ozgzd1| L | oz
ww g} 1O Ww g - 3anL osi0Lse| L | iz
oM dNY10 d osged1| L | ez
ww g - V1O d s90d| L | €2
02 X 9N 1709 goolan| L | ve
9N LNN DOTAN ANWONN | L | sz

11%379n0d 404 1ONI 92 OL 12 SW3LI 40 SAILILNYND 319Nn0d

ONIMHOM s 8 ¥314¥ S1709 7T¥ NOISNIL3Y

‘(poiiddns Jou) ma10s ya] 1o dwejd asoy ypm (z|) 100q 0} soy AIsAISp aIndasg "9
‘urejel o} (}) uiod jo

pua Jaao doo| yum ainoas pue juiod ybnoayy (g) uid youA 31y () Jepjoy ojui () juiod 314 °g
‘(1.1) 19¥0819 pue (g) 1ap|joy Buunoss

(9) sinu usiyBi ] "NILHOIL HIAO LON O - 8Ines 0} 0} 3 6 way Buisn (@) yeq N4 v

"1 89 'G swey Buisn suf) 0} (1 |) j930eIq pUE (Z) J8pioy Jjog AjpsooT ¢

WY sigeNns e Buluiwusiap Joaye ‘Gl B ¥ ¢} sway Buisn (| 1) jexoeiq 0} (7)) jooq og g
"980Y AlaAI[ap BPISU| 8INJ8S pue J00q ojul aqny Ajod QO g€ 8Indes esoy (| 8§ 104
‘AIessedau uoijdepe ou - Joog oJul AJRBUIP 1 (1M AQ 8E- € 9soy Asalled

"(Z1) 300q 0} uondepe asoy Alanjop Xl |

10049 ANV INIOd

1uiod pinbij ayy o yoeq ey ojul senuiuoo edid Aiealjap s|gixsl eyl

(0z) @1e(d dwe ay) Jo wonog ay) 0} 8SOI0 YSIUl PINOYS

pue (psiddns jou) adid Aiaalep sjqixals Je|jews Joj Buised e si (1) agn} sss|uiels :J1LON

"g|ijo.d 1930810 1INS 0} PAAIND

30 Ued pue (1 |) 19%0e.q J00q Jo aleld [eaiuaa [esusd ay) jsulele aso dn yj pinoys agqny
‘Inu pue Jaysem ‘1oq 0z X 9N Yim Bnj o} dwepp 4 aunass uay} (1) aqn} ay; Jano (gz) dwep 4 314 ¢
‘(1 1) 19%081q 100q BA0qe 8joy Bununow dwejo 4 yim Bs) jj0q n 01 (zz) Bn| dwejo 4 eindag g

10q Jebuol ,z/L Buisn auil pue
(1 1) 190810 1004 JO Bj0Y Jamo| 0} 21n0as pue (1Z) aqn} ul puaq § Jaao (oz) aerd dwejo soeld |
ININHOVLLY N AInOI

71

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



o ) \ AUSYNOYNON ALROHLAY NLLRM LNOHLA
newoousewFe MM EIFEIIIEI | ) Njod ANy Lood X314 | QE0 LIV QALLINYId LON ST ALY HIA WOMA ANV NI SILLEYd QAIHL
888T8SE680 ” 0L 3SSI 40 NOLLONAOHATY CINHISTH A TLOIES SIHOI TIV

seaTaseeso 1 S LS WINDY | gNOILONYLSNI ASSY ‘ON OMAd RIINIICNDD 0N AV LII8d0d
90T YM |oodusiam &V‘
‘Kepp, 081 OT }

NOILAINOS3a oSl oniwva | Ao | 43y
INAL 1INS OL - LNIOd XXiild l l
INAL LINS OL- ¥3ATOH XXLLH| L | ¢
Nid 117dS 2 Nid 1 dsi| L | ¢
«C/L ¢ X ANN 9L/ 17109 [4%41¥Xel%| c g
/L2 X ANN L2/ 1709 vizziod| z | s
WZ/L 2 X ANN .Z/L 1709 ziziog| z | s
4NN L9L/Z LNN 109LON| 2 | 9
SN2/ 1NN 10zION| Z | 9
#9L/L HIHSVM LVv14 491 .VM Z VA
CLN 43HSVYM TVOINOD OWZLYM c L
SINAL 3AIM 05 HOH 1708 N lozan| L | 8
S3ANAL 3AIM 82 OL dN HO4 1709 N €002dan l 8
ZLA LN DOTAN ANWZLAN| 2 | 6

oL

¥3ATOH 3SOH d3SITILyY34d 008ca4d l 1%
ANAL LINS O1 - 13X0vyd XXZl294d l cl
NOILYOITddY 1INS O1 - LOOd xxgzad| L | €l
37aavs 0L8ca4d l 14

11o8n s00z8n| z | Sb S M\ K \ —
dWVTO ozzad | 1 | 9t ] W @\/ - 9NTONINGIS FSOH ¥ISITILYH
OLN LNN DOTAN NWOLNAN | ¥ | 2L \ A
1008 3QISNI ONI4dS— (9
"uasul a)eld 49s0j2 8y} Jo doj uo Bunsal si
ONIMHOM siy 8 ¥314¥ SL709 11V NOISNI LI (¢1) 100q ay; apisul bunds ay} auns axe|y "yidap pass uaAa aAIb 0} Jomo| Ww G| 0} Q| S}00q

J0 Mol Jeas Buias Japisuod sjgaymssald Buisn usypa “(anuy ueyy Jaybiy wwigg Ajjew.ou)
WBlay s|geyns e Bululwisiep Jeye /| g 91 ‘G| ‘¥| sway Buisn (Z}) joxoeiq 0} (¢})100q 14

"aqn) Jaz||iuay dy} Jo Bulnoas Jamol Jo Jaybiy 1oy a|qesianal si || 1exoelg
‘(panddns jou) dweja asoy yym Bn| | Wayl 0} 21n2as ‘s}j0q 1ox2eIq Usam]aq S pus jiun
‘uiejal 0} (1) juiod Jaao (z1L % L1) sigvoelq ybnoyy 34 pue (1aybly Jeal) seaibsap Gf 16 asoy Jas||ilua) 8y} JO pus ayying ¢
dooj yym 81noss pue jujod ybnoauy (¢) uid youk| 14 ‘(z) Jepioy o3 (1) Jutod 14 -9
‘2L 9 || usamaq deb e aq Ajpyi| |im a1ay} sauky uo abpa, yupa (1 1) Jopjoy jsuiebe

‘|lews 00} Jo abie| 00} s1 asoy s1sal (Z1) 19¥08BIq 8} SBUA 1B} UQ "0L 9 6 ‘g Swayl Buisn ||, wall 8roge suA 0} (z1) 19)0eiq 4 g
paas Jl 90a1d uonisuel] e se papasu aq Aew adid Ajod O wWw g§ "100q apIsul
‘Bunds Jo doy 03 ybnolys paysnd aq ued pue 100q apIsul i [|IM 8SOY paas 1SON G ") 9 9 ‘G swa)l Buisn suky 0} (| |) Jepjoy asoy Jasi|iie) pue (z) Japjoy i4 |

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au

72



ne‘wooaisewse Mmm 1111 ON 0081(J

1111-ON ,NOIONINEVH

888T89E6G80 4
| HALSYINDY

GGST8SEGS0 <L

90T9 YM |oodysispm %
‘fepy 08184 OT }

3zIs

ddvno HSVYYL
SNOILONHLSNI ASSV

NOILdI¥0S3a 22l oN ldvd | ALD |43
QUVYNOHSYYL ozlioL] L | 1
S3NAL 3AIM 82 ¥O4 - 9N el L | 2
S3NAL 3AIM 05 ¥O4 - 9N SioL| L | 2
S3INAL 3AIM 82 ¥O4 1108 N voolan| L | €
S3NAL 3AIM 05 ¥O4 1708 N gookan| L | €
OLN LNN DOTAN ANWOLAN | 2 | ¥

ONIMHOM $14 8 ¥314V S1708 T1V NOISN3 L3

“FALSYNOY NO¥ ALKIOHLNY NILLRIM LNOHLM
MNO _\ _< QLN LON SIHIAILYHA WORd ANV NI SILLAvd QHIHL
g 0L NSS! 40 NOLLINAOUATY (I3 ALLONMIS SIHON TIv

:ON OMA e/l TWIINIILEND) (W A9V 1319d0%d

)
J

'NILHOIL ¥3IAO LON OQ - (¥) SInu Yim ainoes
pue (g) 3jog N JeAo () bn| 14 "Japjoy jo sbn| 8y} ul pajeso| 43081109 s
abpa Jamo| 8y} ains Bunjew auky o} (1) psenb 1y ‘(1) psenb ybnoayy (¢) 310 N 3 *|

73

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



sioog anvsinodsoin| - 0|0V o T LAy oS T o
SNOILONHLSNI ASSY ‘ON OMd TWIINATINT) ONY AJVLIT8dTad
NOILdIOS3a 2| oNiwvd | ALD | 43
3ANAL 1INS OL - LNIOd XX8lL1ld L L
SH3A33S HO4.2/L 2 X NN L9L/L 17109 Z2LeoLLo9 L 4
SHIIHIHVYIS "HO4 Wb/l 2 X NN W2/ 1109 vlczlog L Z
SY3AIIS MO 4NN L9L/L LNN TO9LLAN | L € / \w//v
SHAIHI-{VYIS HO4 ANN W2/L LNN T0ZLNN L € //, S
SH3IAIIS HO4 17109 N £002an L 14 H
SH3IHI™YIS HO4 1709 N £00cdn 3 14
ZLAN LNN ANWNZLNN 4 el
ANAL LINS OL - 13M0vy4d XXZzda L 9
NOILVYOINddV 1INS O1 - 1009 XXsz14a L L

< X 4ANN.2/L 171049 [44%e}:] < 8
CLIN 43HSYM TWOINOD ONZLYM 14 6 f/
4NN.Z/L 1NN 10ZLNN < oL

N3LHOIL ¥3AO0 LON Od - (¥) Hog dn diN "9

"(z) 10q usiybiy g

'(G) sinu ypm
(9) 19¥08Ig NIy} @indss pue julod Jo doy punole ( $) 3jog N W A3|S00T P

'€ @ ‘¢ swia) Buisn sukj o} (9) 1e3oeIq pue (1) Julod Jjoq Ajgsoo g

ybley sjqeyns
e Buiuiwisiep Jsye ‘0l 6 ‘g sway Buisn (g) yexoeiq 0} (2) J00q Jjog 2

"asoy AJaAllap 1daoaoe 0} (/) 100q OJuo aAs3ls adid 82IS B|geNNS PIBM
"100q ojul Ajoauip asoy AsAlep X4

‘adid siy; Jo apisino

JAA0 10 apisul Bnjd [im s8S0Y 1O 1100q OJUI QO W g€
wnuwixew e yum adid Ajod ww gg 1o /L | Jo 8%aid woys e xi4

‘(az1s asoy Alanljap uo Buipuadap) aie Spoyiawl UOWIWOD SWO0S ONIHOM SIU 8 ¥314Y S1708 TI¥ NOISNILIY
'(1) 100q 01 uondepe asoy AlsAljap axelN ‘|

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au

74




ASSEMBLY INSTRUCTIONS

ne‘wooo)sewsemmm  @EEIELELEITIIE)

SBETESEER0 1] o=t N ssteusavy
GGGT89EGSO -L

90T9 YM [0odysiam %
‘e 081e4 OT kv

HILSYWDY

ST33HM SS3dd
SNOILONYLSNI ASSVY

Q3LLINY3d LON S| ¥3AILVHM WOd] ANY NI SJlLdVd QHIHL
OL 3NSSI 40 NOLONAOY¥d3Y (3AY3SIY AORILS SLHOW TV

“Y3ISYNOY WO ALIMOHLNY NALLIMM LNOHLIM
GIA0LIV

:ON OMd “WINIILND) 0N AL 3d0ed

3zIs

NOILdIF0s3a oua ON L¥vd ALD | 43¥
ATGNISSY 133HM SS3dd 0S1PMd - 00LYMd|  dV 3
Q03d SV HLON3T SHY ¥ X §9 X 59 YS959HY I 4
9N - 1708 N coovan I €
9N - LNN dZIN9LNN cl 14
9LIN - 43HSVYM TVIINOD ON9ILYM cl S
9LN - 1708 N €00van < 9
¥3dd0dd I1ONIS oLovad I L
¥3dd0da 371anoa Slovad l 8
9N - 1708 N cooean 4 6
31V1d 401v001 0covad l oL
SHY 001 404 20l X GEL X 02N 1108 N y00ean 4 L
SHY G2 d04 £LX0LL X 0ZA L1109 N sooean 4 L
SHY TYNOOVIA J04 ¢cl X 051 X 0CN L7109 N 900€an 4 L
ATINO NOILVINIIHO ANOWVIA 404 3LV1d dNV1O 080€SH I cl
YV NIVIN NOISN3 LX3 0covad I €l
d3d713M 39 OL - 31V71d LOINNOD MOHHVYH 2eov3ad I Sl
09 X OC - L1708 09N0ZOd 14 ol
02N - LNN dZINOZNN (214 Ll
0Z - 4IHSVYM TVIINOD ON0ZYM (214 8l
13A37
NNOYD DNIHOM
0ty
Q.
I S89-G6L
"
% X §9 X 99 SHY
| Va
0s 004
f N

029

JINVYVIT) dWNr 3NAL 0L 1J3rdns

0011 = 092

/Lz,qmm LINIWITdNWI

DS 00l 40 30ISY3ANN

YIHSVM ONIYdS 8 LN
1108 33A S3ANTONI

SMOYYVH HLIM 038N
N3HM 0311ddNS AINO

‘palinbai se ainssaid umop isnipy ‘G
(g1) uoisusyxe

Jo uopisod jsnipe (g Jo /) siaddoip upm saiapBluI JjOq 88/ J “SBUI YYIM U] Ul SBljquuasSe [eaym ssaid Xy pue Uopisod
"JUSLISAOW SUIYOBW JOj WD G SS8| SUOI8S BUIYIBW JO UIPIM 0} Jnd SHY umo Buikiddns j| yuswanow suiyoew Jo} 8UBIEs|O

ainsus 0} () SHY Jo spua usamjaq deb wo G aAeaT "z dajs ul paulwis}ap se )i Mojeq J0 8Aoqe (Z) SHY ¥4 '€
"[eA8] punoib Bunjiom 0} (Z) SHY JO WOROQ WOy Wd G 0} WO i Je (Z) SHY Yim seug jo

yUel JSB| puIyaq SouBIESD JN0YEAIq SujULR}ep pue (0}) sjeld J0jedo| pue (g 10 2) Jaddoip yoepe paply SUOISUSIXS UM 2
‘Nwuad sageds se pus Yoes Wwol ul W |, 0} 8SOJO S (§]) SUOISUS)Xe 8)eao| ‘UoRIas W 4 |

*UoNoas JO SPUS WY Ul sduesip /| Aerewixoidde ‘wo Oz wnwiwiw ‘saoeds S|qe|IBAR g SUILLIS)SP UOJOS Yoes 104 |,

SMOYYVH LNOHLIM ATgNISSY T133HM SSTid

ONDIYOM 814 8 ¥314V S1109 1TV NOISNIL-3d
SIN04 HO4 XOOT ‘SINIWHOVLLY ONILLIA 314V INIL LSHI4 THL ATINIFHYO AY3A INIHOVIN GTO4 :ONINYVYM

75

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



ASSEMBLY INSTRUCTIONS

WARNING: FOLD MACHINE VERY CAREFULLY THE FIRST TIME AFTER FITTING ATTACHMENTS, LOOK FOR FOULS
RE-TENSION ALL BOLTS AFTER 8 hrs WORKING

MAXIMUM

FACE OF
END PLATE

ARM SHOULD BE ALMOST VERTICAL

BEARING MUST BE TO
THE REAR OF THE ARM

17 |1 BO12M40 BOLT, M12 x 40mm HEX 18
16 | 1 HS3040 A4 | PIVOT PIN 19 | 1 WA12MC WASHER, M12 CONICAL
15 | 1 HS3030 A4 | HEADSTOCK 20 | 1 NU12MNY NUT, M12 NYLOC
14 | 2 | NU20MNY NUT, M20 NYLOC 21 | 2 | uB3oo4 A4 | U-BOLT, M20 x 135 x 102 FOR 100 x 100 SQUARE
13 | 1 UB3001 A4 | U-BOLT, M20 21 | 2 | uB3ooe A4 | U-BOLT, M20 x 150 x 122 ON DIAMOND
12 | 1 TA3120 A4 | OUTER ARM 22 | 2 | Hs3080 A4 | CLAMP PLATE FOR UB3006 ON DIAMOND
11 | 2 | uB3002 A4 | U-BOLT, M16 21 | 4 | BO20M120 | A4 [BOLT, M20 X 120, W/ WASHER & NUT FOR 75 x 75 SQ
10 | 1 TA3130 A4 | INNER ARM 22 | 2 | Hs3070 A4 | CLAMP PLATE FOR BO20M120 ON 75 x 75 SQUARE
9 | 3 | BO20M6O BOLT, M20 x 60mm HEX 24 | 1 HS3090 A4 | SPRING PLATE - NOT REQD ON NON FOLD M/C
8 | 8o watemc WASHER, M16 CONICAL 25 | 2 | sP3ot1 A4 | SPRING - NOT REQD ON NON FOLD M/C
7 | 8110 NutemzP NUT, M16 26 | 2 | TA3123 BUSH - HARROW ARM
6 2 WA20MC WASHER, M20 CONICAL 27 1 HK3610 A4 | TENSION SPRING ARM
5 28 | 1 SP3012 A4 | TENSION SPRING
4 | 7 | Nu20mzp NUT - M20 29 | 3 | sH10D SHACKLE
3 |1 HA3310 A4 | TURNTABLE 30 | 1 CH8 CHAIN
2 2 UB3003 A4 | UBOLT - M16 31 1 HK3620 A4 | LIFTING LUG
1 1 HA3740/50 HARROW GANG ASSEMBLY - COIL 32 2 BO16M40 BOLT, M16 x 40mm HEX
1 | 1 [HA3240/5060 HARROW GANG ASSEMBLY - STAR
REF|QTY| PARTNo [oB¢ DESCRIPTION See sheet 2 for assembly instructions
v 10 Fargo Way,
O o oecsssisss
PROPRIETARY AND CONFIDENTIAL : -
s, TR D PO g 50 0 Pwe Na ASSY INSTRUCTIONS | AGMASTER . (252201250
TR PACTES N AV, S0 WATEER 15 0T PUTED AlI1050 |HARROWS SHEET 1 OF 2 www.agmaster.com.d

76  Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



ASSEMBLY INSTRUCTIONS

1025 - 1575—]
ARM HORIZONTAL

UNDERSIDE OF
IMPLEMENT FRAME

E |
100 SQ— 1

795 - 665
@350

1085 - 1635
SUBJECT TO TYNE JUMP CLEARANCE
HEIGHT OF IMPLEMENT FRAME
AND ANGLE OF GANG

+/- 20°, 25°, 30° GANG ANGLE

WARNING: FOLD MACHINE VERY CAREFULLY THE FIRST TIME AFTER FITTING ATTACHMENTS, LOOK FOR FOULS

1. Lay harrow gangs behind the bar (with bearings upwards & U arms forwards) to determine suitable mounting positions.
Spaces for the mountings need to be a minimum of 20 cm wide.
2. Mount headstock (15) on rear bar with U bolt (21). If a mounting position is not central to the gang because of an obstruction,
find a space close to the centre of the gang (towards the leading end of the gang is preferable).
3. Fit tension spring arm (27) to headstock (15).
4. Mount outer arm (12), large U bolt (13), spring plate (24) and springs (25) to headstock (15). (spring plate (24)
& springs (25) not supplied on combines). Fit inner arm (10) into outer arm (12) and secure with U bolts (11).
ENSURE EXTENDED LENGTH OF ARM DOES NOT EXCEED 145 cm AS SHOWN IN THE DIAGRAM
5. Loosely mount turntable (3) to inner arm (10).
6. Bolt gang (1) to turntable (3) at desired angle (20°, 25°, 30° or 35°) using U bolts (2), suggested initial setting of 25°.
Gangs can be set all one way or half one way half the other.
IMPORTANT: BEARING ASSEMBLIES MUST BE TOWARDS THE REAR WITH U ARM ALMOST VERTICAL - SEE DIAGRAM.
7. Lower machine to desired working depth.

8. Tighten the turntable (3) to inner arm (10) so the leading end of the gang (1) is about 2 cm higher than the trailing end
(leading end tends to dig in).

9. Adjust large U bolt (13) to within 1 cm of the underside of outer arm (12). This U bolt lifts the gang in transport.

10. Fit lifting lug (32) to turntable (3). Adjust length of chain (31) to carry approximately half of the harrow weight.

* Depending on conditions, altering the turntable (3) angle and tension of spring (28) will vary harrow finish.
Test with one gang before adjusting the rest.
* Taking more weight with the spring can have a greater effect than changing the angle of the gang.
* On tillage machines with less than 100 mm square RHS stiffening may be required between ranks near the headstock mount position.

* Grease bearings weekly. Do not over grease as seals may be damaged.
* Retension all bolts after 8 hours working.

v 10 Fargo Way,
% Welshpool WA 6106
PROPRIETARY AND CONFIDENTIAL DWG NO: ASSY INSTRUCTIONS |saMASTER T 0893581555

F: 0893581888
HARROWS SHEET 2 OF 2 www.agmaster.com.au

MARRINGTON'NO ST

ALL RIGHTS STRICTLY RESERVED REPRODUCTION OR ISSUE TO
THIRD PARTIES IN ANY FROM WHATEVER IS NOT PERMITTED AI 1 050
WTHOUT WRITTEN AUTHORITY FROM AGMASTER.

Lise ane of our anline building taals far Seeding Kits and Presswheels ta help vou with spnecific part numbers calculations and orices 77
e Y ) ) e e Anay e e 77

www.agmaster.com.au



ne woousisewse mmm JAVIOdN 949 MOHdVH
888T85E680 4

cosTaseeso 1 BALSWINDY| SNOILONYLSNI ASSY

1111 ON 008I{/

111L-ON.NOLONINNVH

LGOLIV

:ON OMd

90T9 VM loodysiam %

‘Aepn 081ed OT

NOILdI¥OS3a 25 oniuvd | Alo|43d
YIONITS NMOHD oovevH [ 2 | v
ONVH LHOIY 13N0VYE gevd | 1 | 2
ONVH 1437 13)0vyg ggevH | 1L | €
31v1d ¥30VdS zsevH |z | v
ONISNOH QIONV1H Hpi3g | ¢ | s
£402-2020N - ONIVIE ewonviiag | z | ¢
1708 303N FYVNOS AvIH dND 05 X 9LIN dnooswetog| v | 2
1NN 9L dzwoinN | v | 8
9LIN - ¥FHSYM T¥OINOD owertvm | v | 6
MOOTAN ZLIN ANWZLON | v | o
ZLIN - ¥FHSYM Tv¥DINOD owzivm | v | 1
1708 0% X ZLIN ovwzios | v | o

1} 0} s}j0q Mmojle O}
awey} Bueh ay) yajaus dn au| 1ou op sajoy Ji “Jayiebio) pus Jayjo jjog 9

"awel) bueb Jo Jeal o) s1 Bueaq pue umop $3de) { Wajl ul
Jojs Bulinsus aweyy Bueb o) Aiquasse Bueb Jo pus suo jjog g

~196uyis Jsuiebe sys Bulieaq bulnsus pus yoes o) salquiassse Buliesq 14 v
"UMOYS SE pus yoea ojuo (},) Jabuijs umoud apiis ¢
‘K1essa0au JI Buoje Wway) yoouy ‘9|xe Uo [eJjusd ale siejs ainsug °Z

"aJempJey pue siadeds ‘siaysem ‘sBurieaq Bunsixa aroway |

S31M93NSSY OML SV d31ddNS 34V "1ONI 6 OL ¢ SW3LI 3LON

HILSYNOYINOUS ALIMOHLNY NILLIMM LN
Q3LLINY3d LON SI d3AILYHM WOdd ANV NI SHILY
OL 3NSSI 40 NOILONAOAdAY (3AYESIS ATLOIMLS SLHOI

IVIINIQIANDD NV Adv13Idd0d

pabewep aq Aew s|eas
se asealb J1aA0 Jou 0 "Apeam sbulieaq aseals) ,

®» GO 301 SIHL

31ddIN 3SY3H9

\-6e

D W

Va4 ONVD ONLLSDG

ONVD ADNIVH ONILSIX3
ONIMHOM SiY 8 ¥314V SL1709 1TV NOISNI LY

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

78

www.agmaster.com.au



ASSEMBLY INSTRUCTIONS

ne‘wooussewsemmm  @ERIFLEIEIIE ST133IHM SSINd @@O —\ _<
888T8GE680 d sors = s = o .
gacTesesgo 1L SALSHINDY | SNOILONYLSNI ASSY :ON OMAd

90T9 VM [oodys|om %
‘Aep 081e4 OT \v

“YALSYNOY NOU ALIMOHLNY NILLIYM LNOHLIM
Q3LLINY3d LON SI ¥IAILVHM WOMJ ANV NI S3llavd QYIHL
Suzmm_mozo:o:oomn_umcu>mumm_m>.=o_~_.~mm._._._o_m._._<

"IVIINIALINDD NV AdVI3Tdd0dd

" SMoLeY Jnoym A|quIasse [98ym ssald, Ul G 0} Z sdajs mojjo4

‘(e1qesayeud si 6ueb ayj jo pus Buipes| ay) spiemoy) Bueb ay)

10 81U8d 8y} 0} 800 8oedS B pul ‘UORONIISAO UE JO asnedaq Bueb ay) o) [enusd

jou s uopisod Buunow e §| ‘epIM W OZ JO WNWIUIW B 8q 0} paau Bununow Joy
saoeds ‘suopisod Buunow }saq aujuLIB)ep 0} sulyoew ay} puiyaq sbueb mouey Ae *|

SMOYYVH M3N HLIM ONLLNNOW 4I

-Kiessa0au J SMoLIBY [9A9)] ‘(€]) UOISUS)XS 0} YO0)SPEaY MOLIBY JUNOWSY "9
*SMOLIBY JO} WOOJ
wnwixew aAes| 0} Jnoyealq aup yym Buuapejul Jnoyym a|qissod se pJemioy Jey
SE pajunow si (z) SHY 2Insu3 ,SMOLIBY JNOYNIM A|qUISSSE [98YMm SSald, Ul G 0} 2
sdajs Mojj04 ‘(€] ) uoisusixe yym aoejdas pue Jeq Woly }O0)Speay MOLEY SAOWSY °|

AQVIHTV G3LNNOW JHVY SMOYNVH I

GO0V HLIM NOLLONNPNOO NI Qv 3Svad
NOILVNIGINOD NI SMOYYVH 8 STI3IHMSSTud

79

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au



80  Useone of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.
www.agmaster.com.au



QUICK REFERENCE GUIDE

Individual Parts Only — Not Including Fasteners

Part No Price ex GST  Page Part No Price ex GST  Page Part No Price ex GST  Page
BA5110 $70.00 ] CL2495 $25 39 HA3460 $155.00 49
BA5120 $70.00 8 CL2495HF $18.00 39 HA3500 $75.00 49
BA5140 $70.00 8 CL2496 $28.00 39 HA3510 $25.00 49
BA6200 $95.00 22 CL2496HF $21.00 39 HA3520 $5.50 49
BA6260 $95.00 22 CL2844 $25.00 17,35,39 HA3520X100 $500.00 49
BE114FL $12.00 47,48 CL2845 $25.00 17,35,39 HA3710 $22.00 49
BE114UCR3  $20.00 47,48 CL5240 $50.00 8 HA3720 $12.00 49
BE1228 $2.00 59 CL6240 $50.00 22 HA3740 $1175.00 45
BE1237 $3.00 59 FB2710 $60.00 35 HA3750 $1375.00 45
BE1740 $4.00 60 FB2740 $60.00 35 HC52T $5.00 17,35
BR2010 $55.00 31 FB2810 $5.00 17,35 HC2145 $2.50 17,35
BR2030 $55.00 31 FB2820 $5.00 17,35 HK3610 $68.00 47,48
BR2040 $55.00 31 FB2834 $48.00 17,35 HK3620 $6.00 47,48
BR2050 $55.00 31 FB2835 $48.00 17,35 HL1100 $20.00 29
BR2060 $55.00 31 FB2840 $90.00 17,35 HL1110 $20.00 29
BR2070 $55.00 31 FB2850 $90.00 17,35 HL5600 $25.00 9,12,16
BR2080 $55.00 31 FB2870 $30.00 17,35 HL5610 $25.00 9,12,16
BR2090 $55.00 31 FB2910 $60.00 17 HL7710 $30.00 24
BR2110 $55.00 31 FB2940 $60.00 17 HS3030 $280.00 47
BR2160 $100.00 44 FB5310 $50.00 8,22 HS3040 $28.00 47
BR2210 $50.00 42 FB5350 $100.00 23 HS3070 $12.00 47
BR2220 $50.00 42 FB6410 $50.00 25 HS3080 $18.00 47,56
BR2240 $50.00 42 FBH2800 $20.00 35 HS3090 $10.00 47
BR2250 $50.00 42 FBH2980 $20.00 17 HSP3050 $20.00 54,55
BR2260 $50.00 42 FE4010 $160.00 56 LA6180 $65.00 22
BR5810 $55.00 12 FE4015 $310.00 56 LA6190 $95.00 22
BR5840 $55.00 12 FE4020 $40.00 56 LF2510 $15.00 13,37
BT2370 $115.00 12,31,42 FE4030 $250.00 56 LF2520 $20.00 13,37
BT2380 $115.00 12,31,42 HA3240 $1325.00 45 LF2530 $15.00 13,37
BT2390 $160.00 12,31,42 HA3250 $1525.00 45 LF2540 $20.00 13,37
BT2398 $10 p/set 12,31,42 HA3260 $1725.00 45 LF2550 $4.00 13,37
BT2399 $22.00 12,31,42 HA3310 $145.00 45 LF2570 $5.00 13,37
BT2540 $60.00 12,31,42 HA3340 $200.00 47 LF2580 $5.00 13,37
BT2550 $60.00 12,31,42 HA3350 $220.00 47 LF5420 $10.00 8
BT5540 $70.00 23 HA3360 $240.00 47 LF5520 $5.00 8,22
CA65 $10.00 55,56 HA3370 $85.00 47,48 LF5530 $5.00 8
CF7160 $125.00 25,53 HA3371 $42.00 47,48 PC6S $2.00 13,37
CF7360 $250.00 25 HA3372 $6.00 47,48 PC10S $2.00 13,37
CF7560 $250.00 25,53 HA3380 $85.00 47,48 PI3MIN $1.20 57-59
CH8X500 $10.00 47,48 HA3381 $42.00 47,48 PIR41 $2.00 9,12,1622,61
CL2440 $25.00 39 HA3390 $25.00 49 PIR45 $2.00 9,12,16222,61
CL2474 $25.00 39 HA3410 $5.00 49 PT1120 $65.00 30
CL2494 $25.00 39 HA3440 $135.00 49 PT1120R $65.00 30
CL2494HF $18.00 39 HA3450 $145.00 49 PT1130 $110.00 30

Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices. 81
www.agmaster.com.au



QUICK REFERENCE GUIDE

Individual Parts Only — Not Including Fasteners

Part No Price ex GST  Page Part No Price ex GST  Page Part No Price ex GST  Page
PT1130R $110.00 30 PW4230 $170 60 SP3012 $30.00 47,48
PT1140 $75.00 30 PW4240 $170 60 SP3013 $40.00 47,48
PT1150 $90.00 30 PW4251 $5.00 60 SP3701 $155.00 49
PT1160 $75.00 30 PW4265 $4.00 57,58 SP4011 $20.00 57-59
PT1160R $75.00 30 PW4266 $5.00 57,58 SP4012 $15.00 51,57-59
PT1170 $100.00 30 PW4267 $10.00 57 SW1210 $30.00 36
PT1190 $100.00 30 PW4275 $3.00 57 SW1220 $30.00 36
PT1190R $100.00 30 PW4276 $5.00 57,58 SW1270 $30.00 36
PT1320 $65.00 43 PW4290 $80.00 57 SW5270 $145.00 8
PT1560 $125.00 44 PW4300 $110.00 60 SW5280 $145.00 8
PT1560R $125.00 44 PW4310 $90.00 60 SW5290 $155.00 8
PT1580R $100.00 38 PW4320 $90.00 60 SW6270 $145.00 22
PT1810 $70.00 42 PW4330 $90.00 60 SW6280 $145.00 22
PT1820 $70.00 42 PW4340 $110.00 60 SW6290 $155.00 22
PT1830 $70.00 42 PW4350 $40.00 60 TA3120 $320.00 47
PT1840 $70.00 42 PW4360 $30.00 60 TA3130 $130.00 47
PT1850 $70.00 42 PW4370 $10.00 60 TG1170 $25.00 36
PT1860 $70.00 42 PW4380 $3.00 60 TG1173 $5.00 36,62
PT1865 $85.00 42 PW4390 $5.00 60 TG1175 $5.00 36,62
PT1890 $105.00 42 PW4405 $90.00 59 TG5730 $24.00 18
PT1930 $50.00 38,42 PW4415 $5.00 59 TG5750 $24.00 18
PT1940 $60.00 38 PW4420 $90.00 59 TSP $1.50 29,61
PT1962 $80.00 38 PW4440 $20.00 51,60 UB2005 $4.00 62
PT1963 $95.00 38 PW4450 $50.00 59 UB5620 $4.00 62
PT1964 $100.00 38 PW4460 $0.60 59 XTA3123 $6.00 47,48
PT5040 $75.00 25 PW4470 $0.90 59

PT5050 $100.00 25 PW4480 $3.00 59

PT5060 $75.00 23 PW4500 $70.00 59

PT5070 $100.00 23 PW4550 $8.00 58,59

PT5640 $85.00 9,12,16 PW4560 $20.00 58,59

PT5650 $110.00 9,12,16 PW4570 $2.00 58,59

PT5660 $85.00 9,12,16 PW4580 $5.00 57-59

PT5670 $110.00 9,12,16 PW4590 $4.00 57-59

PT6040 $75.00 25 PWR4285 $6.00 58

PT6050 $100.00 25 PWS57 $2.00 58,59

PT6640 $80.00 22 SC825 $0.20 60

PT6650 $105.00 22 SE36P6641 $6.00 60

PT6710 $130.00 22 SE6PR6518 $5.00 60

PT6720 $90.00 22 SH10D $2.50 47,48

PT7760 $95.00 24 SL5340 $115.00 25

PW4000 $270.00 59 SL5350 $115.00 23

PW4200 $190.00 60 SP2880 $10 16,35

PW4210 $170.00 60 SP3011 $5 47

PW4220 $170.00 60

82 Use one of our online building tools for Seeding Kits and Presswheels to help you with specific part numbers, calculations and prices.

www.agmaster.com.au




